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1. 160 L60, FWILITL 19631 Hia|®Hel, 0L HeNHdH
1.1 oW arpsafss Corerainefean affaimel

(a+b) =(a+b)(a+b)
=af(a+b)+b(a+b)

=a2+ab+ab+b2 = a® +2ab + b?

(@-bf =(a-b)(a-b)
=a(a-b)-b(a-b)

=a* ——ab—ab+b2=a2—2ab+b2

(a+b)° =(a+b)(a+b)
={a +b) (a2 +2ab+b2)
=ala® +2ab +b?)+b(d’ +2ab + b?)
=a® +2a%b + ab* +a’b +2ab® +b°

=a® +3a*b + 3ab*+ b*

(a-b)° =(a—b)(a-b)
=(a-b) (a2 —2ab+b.2)~
=(a—b)(a2 - 2¢1b+bz)—b(a2 —2ab+b2)

=a —2a%h + ab® —a*b + 2ab? - ,b?‘.
=a® - 3a%h + 3ab® - b*
1



.2 srgefemelr

a’ - p? = (a—b)(a+b)

@ -p = (a—b)(a2+ab+b2)

a+p? = (a+b)(a2—ab+b2)

Sy @

2_gryeomnb 1 *_Fijcnp 2

18x% + 33x - 216

=3[6x? -11x—72]

xtax? oyt 2
2_ 2
=(x2 —_yz)(xz +y2)+1(x2 —yz)
-_—(x2 -yz)(x2 + y? +])

=(x—y)(x+y)(x2+y2+l)

-_-x4—y4+x
:3[6x2 —27x+16x—72]

=3[3x (2x - 9) + 8(2x — 9)]
=3(2x-9)(3x +8)

® _Siyewnd 3
(a2 +b2 - c2)2 — 4a% p?
=(a® + 82 - ¢?)” - (2a8)?
=(@ep - ~2ab)(a? + 57 - 2 +2ab)
- [ (a-8)* - c2” (a+b)? —cz]

=(a—b—c)(a—-b+c)(a+b-—c)(a+b+c)

2

o Figemnb 4 *_Siyeond 5

=|_[a2—2ab+b2] =a* + 4222 + 4b* — 422 2

=1-(a-b)’ =(a? +28)' - (208

=[1 - (a-b)][1+ (a-b)]

=(1-a+b)(1+a-b)

=(a® + 27 - 2ab)(a® +2b% + 2ab)

& _ziycond 6
(a-b) + 883
=(a - b)’ +(2b)° |
=[(a-b) + 28] [(a—b)2 - Zb(a—b) + (2”)2]
=(a +b)(a® - 4ab + 7?)
o suyemib 7

81xty - 3xy4'

=3xy [27x3 - }’3]
= 3xy [(317)3 - }’3]

-5 5) 557 13-+ )



1.3 smagsed

S(HHEGHE
® _Siycemp 8

a+b a-b 442

+—_
a-b a+b g*-p?

. a+b B a-b N 4a2
a-b a+b (a—b) (a+b)

(a+b)2 - (a—b)2 + 4a®
(a-b) (a+b)

- 4ab + 4a?
(a-b) (a+b)

__4a(a+d)  4a
(a-b)(a+b)  a-=b

®_Fwgesid 9
1 . 1 N 1
(@-8)(-¢) " (b-c)(c-a)  (a-c)(a=b)

1 1

= + - I
@860 b-Ne-a) " (o) @)
(c—a) + (a-b) - (6-¢)
(@-8)(5-<) c—a)
_c-a+a-b-b+c
(a—b)(b—c)(c—a)
_ -2(b-c) _ 2
@2)6-9c-a) (@ Ha=s)

4

@ _sryemn 10
3 3 2 N 1
2 +x-2 x2+2x-3 x>+5x+6

3 _ 2 e 1 .
(x+2)(x-1) (x+3)(x-1) (x+2)(x+3)

3(x+3) = 2(x+2) + (x-1)
(x—l) (x +2)(x+3)

_3x+9—2x—4+x-—1
- (x—l)(x+2)(x+3)

- 2x+4
' (x—l)(x+2)(x+3)

_ 2(x+2) _ 2
C(x=1)(x+2)(x+3)  (x—1)(x+3)
b_ﬁﬂﬂmli) 11

x?-1 x*+8 x?+x

X -+
x24x—2 x2-2x+4 x*+2x?

_ o) ()¢ -2x44) 22(x42)
(x+2)(x-1) (x2—2x+ 4) x(x+1)

=x(x+2)

1.4 & ymer
sy eflsel




® Fagewnb 13
SIUPNDTENID TN &

81

| 4
® 2 @ (5 @2 mgH (g&)/4

i 5*=5x5=25 ) (-5) =(-5)x (-5) =25

_ 1 1 _2 A
eoog2 11 N I ) C I S N
(iii) 52 25 (iv) 8 2 = (2 ) =27 = 52—_ "
. ) Y

GG )]
® & 256) |\4) | "4
® gugemnd 13
X 86 SupUITCIRISRTS HTSHD |
(i) ’ 2X sx _ I (3 )—}/i —_ 1 N - -

x 8 =64 (i) (Ox =57 Gii) 16 =64
O 2°x8 -6 G 3727 _373 Gi)) 167 =64
-x
2% x (23)" =2¢ L (20)" =2
) >

24X_26 x=6 2-4x=26

4x = -4x=6

=Y x=-2

1.5 swaun@Gser STdHH0

Qb wiflfloonsw SALTGST
faisumd suwdauTGemad Siss.

o gryesmb 14

43
2

y= x% 61T

2 giyswnd 15
5 1 4
7 =3 +t3
x“+6x+8 x“+6x+5 x"+6x+9

y=x2+6x NS
5 1 4
= +
y+8 y+5 y+9

5(y+5) (y+9) = (v + 8) (»+9)
+4(y+8) (y+5)
S(y2 + 14y + 45) = y2 +17y + 72
+4(y2 +13y + 40)
70y +225=17y + 72 + 52y + 160
y=17
x2+6x=17
2 +6x-7=0
(x+7)(x-1)=0
x=-71,1 _



2 sryeeomb 16

2(x2+—12) -9(x+1)+14=0
x x
|

Yy=Xx+— aqaas.
X

2(y*-2)-9y+14=0

2y’ -9y +10=0
(2y-5)(y-2)=0

5
=—,v:2_
y >
5
y =2 aciar, y=5 sttt
x x
(x-17 =0 2x% —S5x+2=0
x=11 2x-1)(x-2)=0
i g 1,1 1 2 | 1 2
5"’6"&61‘ k] ,27 ) x‘—E’

® yugewmd 17

axt —bx® + cx? —bx + a=0 eam eugalenions Fw&LTHS6T
x#0; goanefied x =0 o Fiey adia, a = 0 guEw0.
soALTLL 2 e Ifds. '
b/

a
axz—bx+c-—-—+—2=0
X x

a(x2+iz)—b(x+l)+c=0
x x
8

y=x+— agnd Grfulyemed @Fsweaiur’gemard Sisseond.
x

8x% —42x3 +29x2 +42x +8=0

x20;, x? 60 Ifss,

8x2 —-42x+29+53+—82—=o
X x .

s(x2 +l2)—42(x-1)+29=0
X - X

Yy=X—-—— qes.
p o
8(y2+2)—42y+29=0

8y? —42y +45=0
(2y-3)(4y+15)=0

_3 _15
y 5 TNV T P
3 15
y 2 areflest y a adilen
1 1 15
X——== xX——=—
X 2,’ x 4
2x2 -3x-2=0 4x2 —15x-4=0
(2x+1)(x—2)=0 (4x+l)(x—4)=0
x——lZ X = —-— S 4
2’ 2 DIV
1 1
.5\-]5‘|.| -—’23—'_:4
& 2 4
9



® siyemud 18 (v-12)(y+3)+56=0

2
-9y +20=0
I+l - J2-x=J2x-1 yo -9y +
Boussud anisdss C (y-5)(»y-49=0
Bx+)+(2-x)-2yBx+1)(2-x)=2x -1 y=35, 4
2=/(3x +1)(2—-x) i
x* +4x=5 x* +4x-4=0
4=03x+1)(2-x )
4= 2 ar5e e
Ix*-5x+2=0 (5 +5) (+-1) = 0 ‘ —
(3x-2)(x-1)=0 | oS C2i2f3
x—zl /
3 Bioyment : —5,1,-2+22,-2-22
x =1 aafler, @Beasu J4 -1 =2-1=1 ® Frysond 30
- 4x+l+24x+2=80
' 6l.60&. L :J]. =1 ’
x+1 3\2x+1
xX=— d., X . =J3-.—= —_—— =
3 afilal, & ans.u f \/; \/_ \/5 \/5

© 447 +4.4%% =80
1

s = & +(4) =20
Siopmer 1, —— y=4" as.

3 Y +y-20=0
® sy 19 (y+5)(y-4)=0

y=-5,4

(x-2) (x+3)(x+6) (x+ 1) +56=0 =t 50

-2 6 3 1})+56=0

(=) (x6) (4 3 e+ 1)+ e e

(¢ +4x —12) (x* + 4x +3) + 56 = 0 4 =

y:,‘x2+4x IBIS. 10 x=1 11



b 21
o Fryewud Bx? —18x2 + 12x + 45x% — 60x + 20 = 4

(x+1)* + (x-3)" = 256 35x2 —48x +16=0

(5x-4)(7x-4)=0
y =5 [(x+1)+ (+-3)] aa 4
y=(x—1) DpGLD. X == S0 3

etem@eu FHylulL. Fwoeumdh

3 o
4 4 y= d aeudsd Bysui
(y+2) +(y-2)* =256
4 4
(v* + 8y +24)? +32y +16) + (y* - 8y’ — 24y” =32y + 16) = 256 x= x=3
2y* +48y% +32 =256 1 1
4 2 _ ‘.V— 5 S y= 7
y o +24y° —-112=0
(y2 + 28) (y2 - 4) =0 ‘|_gGrgemnd 23

y=%2, *,-28 x2+xy—2y2=0; x2+2xy+3y2+4x+5y=15
x=3,-1, 1+,-28 ' | ppeTag SLIUTE X, Yy Bed gaaismorers
Y ) ' ‘ y=Vx eis.

S®THuionet FerLm®Her X +vat—2rixt=0

.. ,, 2V v —1=0 @+ -1=0
dearaumidb sFwaiuThoerend Hidhs A
1
Veer o
2 grysmnd 23 5 SveE 1
1
2x2—3xy+5y2=l : y=—5x DIVVG Y = X
3Ix-2y=2 y =X e @ueviLieug sweiumiged ygui
3x-2 2 2 2 T
3x-2y=2;, y= X aeon FwaLT® (1) @6 SyguliL X +2x° +3x° +4x+5x-15=0
’ 6x> +9x-15=0
2
232 3¢ 3222 +5(3x*2) =1 2x2 +3x - 5=0
2 2
12

13



@x+5)(x-1)=0 , , . ,
s Ix“ +24y " =Tx" +Txy + 28y
x=—/2 3]61)6\)@]X=1 2x2_7xy_4y2=0

x=—52 et y=—%. x =1 eaalar y =1 (2x+y)(x-4y)=0

l -
y=—5 X, x=-2y e @geviLmeug swaurliged Hgduiic x=-—% Sioegs x =4y
2
2 _y_5= 2_1 _41
y -y-5=0 Y= y=E;
y=—-2x a1 swaun@ (2) @0 dyHuie
1+ 421 . 1 - 421
Y=y eees y=T 3577 = 14
x=-2y ‘@0 13gHuIL xzzg
x=—1—\[2—T SIS x:;1+J2_1 o 5
| 2 1
5 ; = — = —
Sieyseit x =1 x=-3 x=-1-+21 x=—1++21 x i\E is‘/ﬁ
= -2 _1+421 _1-V2 x= 1 V10 e, y=-=0
y=1 y=-3 y > y 3 5 5
1 2
o gpnysond 24 x=—gm aalet, Y= EVIO
1
x2+xy+4y2=6———(1) Sheysenr x=2 x=-2 X=§\/i_6
2 2 A
3Ix° +8y° =14 2) 1 ___l_ __EJI—O
()x7, = Ix*+Txy+28y° =42 Y3 y=-3 =3

(2)x3, = 957 +24y? =42

14
15



1.6, efsfsupib, efsSsawaph
o Znyewnp 25

a:b=3:4 eafar (i) 2a - b : 3a - 2b
(i) a® —ab-2b% :a* - 4b° @& svews.

3 3b

%:Z erefeat, a=—4~ SLGLD.
3b b
1 —b:—-—b:-—-
@ 2a-b=5-b=7
9% b
—2b=2" —2b="-
3a - 2b 3 2
2a-b _4_2 2a—b:3a-2b=2:1 @b
3a-2b 2 1
2 2
9p% 32 ., 9b2—12b> —32b> -35b
. 2 2___—____ - —
(i) g° -ab-2b" = 6 4 2b 6 16
2
a’ —4b* = £—4b2 _ 5%
16

a’ —ab-2b%:a® —4b?* =7:11 sy

o _Fryesnb 26

a ¢ e . . N . -
b d f stafiall, geilae sldsutd deiupauaning swb e

] S5a —Tc + 3e (i) 4a? - 5ace + 6¢* f
® Sb—7d +3f ' 4b* - 5bde + 6 13

16

=£. =k oo,
b d

a=kb,c=kd,e=kf saw.

~in

G Sa=Te+lde Skb-Tkd+3kf k(b-7d+3f)

5b-7d +3f  Sb-7d+3f 5b-7d +3f
, a c e 5a - Tc + 3e .
‘WDEEDY - = — = — = —— .
A T d T T4 135 O
(i) 4a’ — 5ace + 6¢* f
1
4b%> —Shde + 6 £
_ |4K*B? - 5K3bd £+ 6K2f3
4b* —Skbd f +6f3
k(467 - 5kbd £ +617)
B (407 - skbd f +61°)
'Q;,&.(Bsua c e 4a2—5ace+6e2f )
=55 == 1.
b d f \ 22 —Skde+es’ 2O

2 _gryemnud 27

X+y y+z  z+x
2a+b 2b+c¢ 2c+a

sTefilgit

x+y+z _(b+c)x+(c+a)y +(a+b)z
a+b+c 2(ab + bce + ca)

X+y y+z  z+4x
2a+b 2b+c¢ 2c+a

=k eeis.

17
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(x+y)+ (y+2)+(z +x)

k =
(2a+b)+(2b+c)+(2c+a)
_2(x+y+z) x+y+z 3k
3(a+b+c) a+b+c 2
_x+y _y+z  (x+y)-(r+2z)  x-z  z+x
—2a+b_2b+c_(2a+b)—(2b+c)_2a—b—c’_26+c
o (x=2)+(z+x) 2x
_(Za—b—c)+(20+a)—3a—~b+c
2y 2z
o k= —2 k=22
BGs6ure 3b-c+a 3c—a+b
_ e 2% _ 2y 2z
R 3a-b+c 3b-c+a 3c—-a+bh
K< 2x (b +¢) _ 2y(c +a) _ 2z(a +b)
(3a—-b+c)(b+c)_(3b—c+a)(c+a)_(3c—a+b)(a+b)
i 2[x(b+c)+y(c+a)+z(a+b)]
3a(b +c)—(b2 —c2)+3b(c+a)—(c2 —a2)+3c(a+b)—(a2 —-bz)
‘- 2[ x(b+c)+ y(c+a)+z(a +b)]
- 3[2ab + 2bc + 2cd]
x(b+c)+y(c+a)+z(a+b) 3k
2(ab+bc+ca) T2
eyaen x+y+z=(b+c)x+(c+a)y+(a+b)z
Ca+b+c 2(ab + bc + ca)
18

1.7 m_semas

10' = 10
102 = 100

log1p10=1

53 =125

{4
<

10°=1000 &  log;n1000 =3
< logs125=3
<

4% =32 log,32 = %

= logyz8=—3

Q
I

y o log,y=x (a>0)

wL_Hn®d alF el

log,xy = log,x + log, y

log f = log,x - log,y

log,x" = nlog,x

wL Sensulear Slgenw THPBH®

log,b = x eeis.
loghb=x < b=ad"
log.b = x log.a
log. b

- log.a

19



log b = log b 4logex -1 = log, 4 easiugled
~ logea 2 1=y
log, b 1 v
c=b adfar, log b = 2867 _ . o
logya logya o0 Y 4y-2=0, (y+2)(y-1i)=0
v=-2 eefa, 4=x

logya-log.b-log,c = log,a- logab . log ,c © Dosed,  4=x'=4
log,c !
=logya-log,b = 1 gy X 2’ 4
logya-log b-log,c =1 eysib.
2 Fugcsnd 29
o _Fuyesid 28 .
» (i) a,b asum CpOyezams Bmes
a b aguen Grpi GuuiQusTse aefer, 1 1 . .
‘ ; . b+1 b:l s &S (H5.
a
log,b = f—l_ s ST B logaa 86 ,
0gpa cetL , (i) Ziss: (@)  logyx = logy(x +6)
G5dui® y = log,4 U LWSLESSH Divevg Cameiswors ' 100 — loggx
4logiex — 1 =log, 4 ms Hids.. (b) 088 ° = logg2
y=log. 4 eaes.
R 1 + 1
y=log 4 o 4=x : ® log,ab  logpab
= logi64 = y logi x 1 1

, = +
= Iog1616l/2 =y v log|ex log,a + log,b  logpa + logyb

1 1
= +
1+log,hb logpa +1

l— log, . x
2 Y (0816

1
log, . x = —
L16 2, 20 . 21



. y
s Y371
1+ 1 logya+1 /3
logya | |
Sy——=y)
logpa . 1 i 3 9
_1+logba logba+1— , L T
3y_ 9, J’- 6
(i) (a) logyx = logy(x + 6) logex
gX = ——
y=logyx = x =27 N .
_1 -
1
Iog4x=10g442y : X:Z_yz__-_l_:g
11 V22
logsx = —y = — logyx
84 2}’ > g2
= X q . x 1
logyx = logy (x + 6) y=a' @& eegy. x —> a (a>1)

= u —_ 0 —_ 1

2 logyx = logy(x + 6) X =0 aefle y=q =1 (0,1), (1,q), (—1, ;)
i x = | aeflein = al =a

logyx? = log, (x +6) 1 Y aaiuen y =ag* @eb

x2=x¥6 = x*-x-6=0 | x = -1 aaler y=a'l=; 2_siten yeteMasemr(@ib.
(x=3)(x+2)=0
x=3 swog -2 : y=log,x @ aweoyy . x ——> log,x (a>1)
*>0 osbw x=3 x =1 e, y=1Iog,1=0
x/ loggx x=a edien, y=log,a=1
) o = 1 I 4
&3 x=— adlar, y=Ilog, (—) =log,a =-1 sEw.
a a
loggx — logg2 = loggx
logg?2

1
(1,0), (a,1), (;a - 1) aguan y = log,x @ed Sieniwpgisien
| 4

loggx = y aetis. Guoaybd Iogg2 = logg (23)"3 = 10g88’l/3 _
22

yeeaenm@id.
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Y|

(
g

-1, %) B =(0,1), C=(l,a)

1} =00 R=(a))

N (0. 1)

_

{o.a}

AY

R A
¥ a

Ger euemgy (0 <a <) X —>

y=log,x @& amyy (0<a<l) ;

24

x —> log,x

Q

uuiipad 1.1

Usianpaictaipeny alfd g TIpPIH

2

. (2x+ 3)2 2. (2xy+ 2)2 3 (XZ + yz)

2 2

x 3y 2 1
4. (-3*'**?) 5. (3a—4b)t 6. (x"';) |
] 2

: 2

7. (x—- ;) 8. (ax—by)2 9. (2x-5y)
3 3 3
10. (x+1) 1. (x-1) 12. (2x +3y)
3 3

13. (2x - 3y)* 14 (Hl) 15 (x—l)

(2x - y) ) x : x

16. x+y=17 xy =12 acat x2 -4-y2 Quuuonemd wimgy?

17. x + y = a, xy = 20 asfa x2+y2, x3+y3, x4+y
s@uaIDNe GUMIOTAIBIEMETS HTETS.
L% o =3 . x2 + — x3 + _]_ . P,
iho VT =5 giafled, 2> 3 eIeiueumien
X x x

L UIDT RTEIGED6TS  HTES.
|

mw R
!

FTIAG i . TEUT DS BTG,

20 _ 1 (21 v .
. xX=a t+;, y=ajt +-ﬁ ol [ @& eTINH X, ), A

sigiuauDBiDden G GerLiy geenmi Gume.

25
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uulps 1.2

STyl UTS G

I 2x% 4 x -1
4, 18x? +13x - 21
7. 4xy+9a% — x? — 4)?
9. 4x* +8x2)% +9)?
M. g -2 +1-2 42
13. x> =9+ 94% —6ax

15. x8 — 5

17. 8a° - b —a (2a2 —Sab + 2b2)

19. x® —9x3 )3 4+ 85

2. 5x% +14x -3
5. 6x2 —55x + 126

3. 6x? —11x=-72
6. 6x2 —x-35

8 2x2-x-2y+2y-3xy
10. &% (2x-4y) -b? (2y - x)°
12. 44" —134% b + 9b*

14. x6 - )°

16. g* - a’b—ab® + b*

'18. 81x? - 353

20. % +2x23% +9y°

&ryenl Slfenar 2 LCUTHGHF &HHSHD

21. 103 x 97 - 22,

24. (a+b)(a-b) (a2 +b2) (a4 +b4)

uufps 1.3
& HHGHD

a 1
+

1-a*> a-1

1.

2 1 3x
+ + —
T4x x-1 1= 42

3.

140 x'148 +16  23. 100-3x99-7

25. 1252 -12x13

1 1 2
S. + -

¥’ -4 x2+x—6 x2+5x+6

2 1 3

+
6. - x (x-1)? 1-x?

UL I 6

T (x-3? 26 -sx-3  4x? _
2 - 8 B 4

% 32 l4x+8 -6 -6 20 lx+l2
I . 1 N f

R R O I ) T el I R ()
a? N b? . bc

O a-b)a-c) " p-ob-a)  (c-a)(c-b)
x+1  1+x ‘\("’2_9)()““2)

1. x> ~5x+6 4-x?

12. (xz—x—lz)(xz—x-g)

x y). x
(-2
y x X—-y X+y

uutisd 1.4

QLDIDT I RIBENGTH BT B
22 3 )
Loso®, 643, (2)2, 167
27



2 2 Y 2 5 3 4
. -3 -= 3275 %2160 , = -
2. 32°5+1253 3T 2 T 2 i6x+2 xP46x+l xP+6x+8
8174 x27 73
2 2
3. (a) y =4 " sp&h. ‘ 8. |x+=-1]|x+—=-+4|=6
x x
. _3 .. _ . . ,
i) x——2— (ii) x = -3 aalar, y msé snewis. 2 2(x2 + 3y +2) |
9, 3 + 3 =12—-
1 x“+3x+2 x 6
(iii) y =32 (iv) ¥y = 3 aefiedt, X mé STeis. :
Pl
10. 6(x +—=|+5/x+—-]-38=0
3 1 _5/ 2
\/§ % x 672 x x
® (V8 x5 |
1) 1 3 L
' -— Tix——|=12- X+ —+x+—=4
4. x =9,y = 16 adieit, Iamumaataunia QUDIOTRTRSMENE HTEHIS. n. (x x) " (x x) 4 12. x2 * X
1/
) 73 . 2 A 2 2 _
. 1 . [6x 1 : N 13. 73 3 _ 14. |x° = 9x +15){x" - 9x+20)=6
(i) 2 y% (i) (7] (iii) (4xy) ! (x+y) /2 9x7% +4x 37 ( )( )
| 15. 6x* +7x° - 36x* —=Tx +6=0
5. x @& QUITEISMBE TS 16. x* + x> +—4x> +x+1=0
@ 47%=32 () x2=4 () 4 =452 17. 3x* —20x> - 94x% —20x +3=0
d) 2% x8 +!'=43 18. 5 /x-3+2/x+1=x+13
Luipd 1.5 19. 4 /x-1-Jx+4=x+20 20 3Jx+25-x=8
21 (x+3)(x+5)(x-2)(x—4)=120
L. dGaphd swaur@emas Sise 22 (x+1)(2x - 7) (2x + 1) (x - 3) = 96
2
L x*—12x2+27=0 2. x+3/5%x =50 23. 2" 4 2% =38 240 2% 0¥ g6
/ 1 2x 4 Ax+2 _ ’ . 4 _
. 8(x3+x_3)=65 " 3[(x+7)}2+(x+7) ~2] _ 10 25. 2% —3.2"*2 +32=0 26. (1-x)" +(1+x)" =82
_ - 3
5. xl+x}é=z 6. xy2+x%=16

28 29



29.

31.
32.

33. 4x2
34, x?

3s.
36.
37
38.
39.

40.

41.

920

43.
44,

45. -

46.

47.

48.

49.

x-1_y+2 2x+2y
2 3 9
2x2—3xy=36, 4x +5y =2

30. x+y=1;

x+2y=3; 3x2+4y2+12x:7’
-5y =16; 9x* +10y =101
—4xy+3y2=0; 2x2—2x+y=13
8x2—6xy+“y2:0; x2+y2+x=6
x2+2xy+2y2;—.3x2+xy+y2=5

2x% +3xy=26; 3y* +2xy=39
xz—xy=6 ; x2+y2:6-1
x2+‘2xy=;45; xy+3y2=22

eyt =2y 2xy —yt=yp
xz—x—y=0;2x2+xy+2y2=5(x+y)

-xy+y2=4x+y; 5xy+2y2 =8x+ 5y

2x2:x+y ;2xy+y2=3x
x+y ‘5 x3+y3=35

=3; -y =117

X -y 3
x+y=10; , \/~

51,

‘54. (x+ y)§ +6(x —y)% _ 5(x2 _yz)/a

50. x2 +xp+3x=6; y2+xy+3y=l_2

3 N 2 —9- 4 __9____5
x+1 y-4 x+1 y-4

52, (Jr+y)2 +{x+y)=6

53. + =—0; x2+xy=6

x—y=2

55. x> +3y3=28; xZy+xy?=12
56. x2 +15xy~4)2 =6

x2+y2=1

57. xy—3x—3y+12=0

2xy+4x+4y =56

uuiid 1.6
1. a:b=10:3 eelar,. 2a-5b:a-3b i s
2. a:b=c:deadie, atb: b=c+d:d

a-b:b=c-d:d
atb:a-b=c+d;c—-d e Pyeys.

3. a:b=x-2y:y+2x acfler, x:y=a+zb:b - 2a

s ST (h.

a_c_e
b d = —}; adfia, geuGeunm eIz Iaemeustaumiing Fw6ied
STL(H5.

31



10.

c3—azef _ace

b2 f2 bdf

(ii)

Hx+y+z=0

(ii) (b + c) x+(c+ a) y+ (a + b)z =0 eaEsTl Bs.

X y z .
= = aefeni, () Ix+my+nz=0
2 pn-0P nl-mt @ Y

Im—n

(i) mx +ny +1z=0 eemssr (Gs.

2 2 2 2

a:b=c:d eefar, ab+ cd:ab-cd= ad*+ct:a*-¢

BB TL(HS.
x a ! x2 - Xxy+ y2 x2 . .
= aefle, —5 "5 = —3 AHBTL(H%H.

_ - x -z .
y+z x=z+x Yy _ +y sreflest,

a b ¢

x Yy

= = aeIBmieys.
b+c c+a a+b

xX+y _ y+z _ Z+ X

= sTef&n,
3a-b 3b-c

3c—-a

X+y+z ax + by +cz
a+b+c a®+b% +c?

SIRIBHTL (Hh.

32

uuipd 1.7

1.

10.

11.

12.

13.

s

log,4 +2 logyx — log, (2x,—1) =2 '
logyo (x + ) =4
logyg (x2 "yz) =3

(i) IOglo (xz +9) - 2 loglox =1

sa 2

(ii) (a + «/1;) @a Meoar awzis. @AIBHE 9 + 4°/5 B
UTEBAPVHMNSS BT 6.

xy = 80 : 5. log,y =12

logigx — 2 log,gy =1 xy=18

log(x+y)=0 7. 2logy =log2+ logx

2 logx =log (y+1) 27 =47
log, x +1log,y=5; log,x =2

log; (x-5y+4)=0 ; log, (x+1)-1=21log, y
log(x —2) + log, =2 log y

log(x-3y+3)=0

2
2 2 x
log, (a -x ) =2 + log, [1 - —7] aMBBT_(HS.
a

a+b

a? + b? =23 qb e, log a + logh =2 log ( J BB (5.

logpa - log b log,c =1 ey &l Gs.
33

logya = eesiad,

a



14.

15.
16.
17.

18.

19.

20.

21.

- 220

23.

Uogyx +2 log,y =5 aeflen, log,x =2 DGOV % IIHETL(B5.

BN mHaE GwBm syuulL SFoEuTLeLww Xy = 27 aeip
spsuTl el uptd Sl Gauiuph X, Y B QUUIDTRTRISENENS SHTawriD.

figas : logyx —41log, 3+3=0
fide log,x=2, 5y=x+12log.y
fidas : logyx — 2 log,3=1

LLEma amUiUTGEsmer 2 UCWTESS GMHHGS-

) log, 82 (i)  logs49 x log,125

(i) log,b® x logya® =6 aends &TEs.

(ii) a, b eduen Gryraa swopnsTud @oular log,b + logba2 =3
adlen b @ a @ e,

v=log,x*, z=log,a eis, yz =3 cdenssn Gs. @HNGHS
loga (3 log, x) - log, (logx a) = loga 27 s&yow Gurg y,z Beit
Quuroneiisenens &reas. |
1
10816 (xy) = -2- Iog4,x + % logsy eengastiGs. BFSmBEsT
. 1
Sieveogy GaugeubuinaBeur  logie (xy)= 35
log,x . . . e
—= = —8 U ghEBOW FOSUTEEmS Fibs.
log,y
s : logsx = y = logy (2x — 1)
Sidas : log,x = log, (x + 6)

34

24,

25.

26.

27,

28.

29.

30.

31.

x _ loggx

Sidps : (i) 9 log,5=1Iogsx (i) logg—
2 o gs2
5
giss :  logg xy= 50 logyx-logzy = - 6
x =log,b eeilal, b @isrer @n Caromaomw a, X B HTeNis

log t

PO BB log t = o TRNH DI -

r

s, t eigiuen 1 @@ swwny CHT amisenTs @(hbs

(@) logt = sleiayiD, (b) log,t + Iogyt =0
log, s s

STETEYLD (B,

log,b = log,c = log.a ee&fier, a=b=c=1 eae ppas.

p2 =qr easfa, loggp+ log,p=2log, p-log,p eeméam (Gs.

a(B‘Y)+B(Y—a)+Y(a—B)=O SIRGETL (HS.
=log,, p= logh, y = log c e BBeugred

(leoga (leogb (a)logc ‘
- = A= =1 asmsariGs.
c aj b

u, VSt aaiue esbeomd GBITES BHéHsH,

el (3 o)

sINBETL_(HS.



2. QMOUINUIGHIBGT, LIGVIBINT®HaT,
- 153 HCHBBID, BTY6wTH0DHBBID
GWDUI6YWI&53T & 61T (Reai Numbers)

QuuIGwesiEsT sias SambGUTEH BuINens aemiGHsT HeD aansst, eldspn
slemisei, eldlBupmT aamisel e upNs CEMbAmSSD DieuuiomEib.

Bumens stemisen (Natural numbers)
aswigmid stemisen (Counting numbers)
CriBienm eremimsit (Positive integers)

Zy ={0,1,2,3,.... } - ww aenset (Whole numbers)

weemUDHD Blew elessiset (non negative integers)

Z = { ....... ,—3,-2, - 1}- WD Bl ETEsIT (negative integers)
Zy = {...,—3, -2,-1, 0} - Grymp Bewm erewiss (non positive integers)

[ ]
Z= { ....... ,—3,-2,-1,0,1, 2,....} - Mlenm elewisa (integers)
effspn eremisar (Rational numbers)

a
ab aguen B eetisemaad b = 0 spea Gmés, T aaID algaudHed

b
TWPBULL &Fnlgu) sTemigel alAHpm aTaiael seILBL. eldlsuwn aratiseafe
GgrenL O 60 GNSSUILHLD.

Q={XI x=%, a,beZ, b;eO} DG ID.

2 3 2
—5 ,—Z, 5 -7, 6—5- , 0 aguen aldgwpn aavsamT@n. efdsupm

IS SFLSHPID aumsEGHbaoMD. (-3 aaLg Hsupn aemismngb.

éGmaﬁ’ﬂa’) 0-3 = i DhSLD.
10

SHFWHBIGHEDET PRIN CUMBWITE UENSILIHSHIHEVTD.
i. @yeien gawmssr (terminating)
il. Bewd sFwmseT (repeating)
iii. Berg, gawmsen (non repeating)

PloQielTen BHFIWRISGET

0-3=—3—, 0-46:ﬁ, 0-7897=y
10 100 1000

Benid &FIDHISET

0.333..=0.3=1
3

0- 142857 142857...... = 0- 142857 = —;—

0-2727.... =0.27 = %

siiGau (LPIgaeTen SHFIOBIHEMHID, WEDHLD SHFIDMIBEHD afaSBUPM STERRISENT GHD.
efSsaporn aemimer (Irrational Numbers)

a
a b Peop aemsemaaud, b = 0 oysanp Bmses, ; aeid augeusHd 1(pSH
weury Quui Quississl, alfBUPDT aauiseT ararlLGD. oSS pDTeTaRTsH e
SovaudinG 2 _STJRuHIESI.
V2 =1-41421356237095.....

J3 =1-73205080.....

n=3-141592653.....
Beoe eng FFDBIBMTE umsd GHMOSHIL_ (Henenet. T SHFIOBIBMTE LIS
GYsaEUUGBY aauisen eIEGUPDT TaRISH6T DLEGLW.

37



QuuiQuissiisen (R) 4. ote swanwun Gl uesy (Identity property)
a g GuukuiesisTe GihHEsS.
ato=a=o0+a (Gliahsrag)

a-l=a=1-a Qumssekbansig)

(Q) eidbaupm aess aldspon aemiaei (')
5. Gwitwng vesiy (Inverse property)
a 9@ GuuiCuiaTentas &mss,
Beop erewiamei Ben aaiisa DeOTHme at(-a)=0=(-a) + a sewim —ack o &E (SalLed)
a g6 GuuRusistead a % 0 ssau Gumss,
oUQ =R oNQE =+¢ e '

1 1 1
Qwutluesiselat uatiysar (Properties of real numbers) “ a

B
;

QuuiGuieTissT uHBw SwiLLD UsiyssTt feo @nig STOLL Gerener. ysFPuspgean Oumebased ueiy (Multiplicative property of zero)

. a em GuuitwerianTs Bmss,
1. sali Spmren Olev sz uaky (closure property for addition) a-o= 0=0-a G-
a, b agiue QuiCueiss adis, a+b o 1b gm GG DL GLD.
abeR =>a+beR 7. upbuedewuaiy (Distributive property)
Aupdadperer Slansod uaiy (closure property for multiplication) a, b, ¢ aguen QuirGueisaTs Bobs
a, b asuer GuWRWeNssT aeflal, ab o b O QuuiGwesi DG a(b+c) = ab+ac sysw.
a,be R = abe R
L [ J ® .
2. slLapsran ufesissaren alod (commutative property for addition) um@@‘un&m (P olynomtals)
- a, b asuer QuuiQuenser aefist, a + b = b+ a SLGD. ‘

abeR=>a+b=>b+q
ApsmShmrer Lfarssamar afg?
(Commutative property for multiplication)

n asLg YFSuLd Sivegl @ GEiT Heoy aemiewmaagd, A, > dp s Ay ,......d,
slegtuet DT GuUIRUIEISTSOD BhHda,

2 r n .
a b esue GuuiGuetisst aefa ab = ba LG, ag +ay +ayx” + ... +a,x +.... +a, x* a&ug il x @eoren @
a,beR = ab=ba ueoemInd aelBLD.
a, ,aq1x ,a, x2 5 eeenes ,a, x, ,a" x" aeuen 2_MILILBS6NT slamll..j(ﬁlb.

3. CaibaNs ueky (Associative property) . .
a, b, c asiuar QuuGUeRIsTS BMmos Q, , A1 5 Ay see.-.. a,...a, asiuen gemasmser (Coeflicients) eiuGL.

(a+b)+c=a+(b+c) (FaL1LeShamengy)

(ab) c=a (bc) (QumEseDBTEZ) (degree) n oy&w. BEg a, # 0o wIBET S 2 Wiy 1 HEW.
38 39
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a, +aix +ayx” + ... +a,x" +...... +a, x" agp veomiiuis uy



9if 2 wivgmws GaretiL o WOtE Gansh, a, Yhapp Gewsb (leading

coefficient) er@iuGL. a, — @Hend 2 M| eTaHILGD.

2 FHNJ6IoID

*-3x+3 - x @ @ v, g 2 SyGLbH.

6x> —J2 x +% - X @ gm usogipnd. uy 3 L.
3x3 - %x-’ -x>-10 - x B 90 ﬁsbgugmﬂ. T

GhINSTISD — Vz BHGID.

@ ®oint (monomial)

8O 2 piemu wi (Y Garemin. LI @rinl aeL@GLD.

2 _SHTJeID
3x4, @ommns. - ug 4
5 3
—Z}’ > V@ gmpind - wg 3
V3x®, x @ gomind -ug 5
—17t, t@ed @EmINS. - g 1
5=5-1=5-x% empmni. - 0

Bsanpien ool gHD aELLBD. (YFb) O aaug 698 amaLTE@LD.
Baiopd PODUILITGD. D Uy QM SISTUDSS BouabHed BaTeis.

wopInt (Binomial)
By 2 puySsmen LG QarawiL UIMILISEST, FGHUILIIST aeIILGD.

40

_SHAJITID

I+ 2x ug 1 WhHIN GENSBD 2
5x7—\3x g2 hsIm @ama> 5
9x* + x’ g 7 whsm Gevsd |
1 4 1
5! +3V20 g 4 Whoip Gemad 5

Gpoupuind (Trinomial)

WS 2 mIiLssenen WLEHW GaremiL uedemItnisen (peymIsst eTemiL{HLD.

o _HIJIILD
. 1

1—5x+\/§x2 : ug 2 (phaim Gensh /2
2y —6y2 + Sy4 uy 4 hsm GeRsD S

aTeTBeu LsdeIDILNT 6TaTLIZ GHDUUILITEBEUT DIGVEVSHI (LPIQOL6TTET 6T65ITERITS FDHEUIT 68T
pouLisslar Fl BHEHTMBWNE (DiEV6VE NGHLTHONS) B([HHSHEOTLD.

1
6x* - V2 x? = g x e usbUd. (pEim 2 IlySsmenTd
3 L

QEITEILSHTED RHmST Py GIDTQYD FaMEOTLD)

@liucdaumnuiesr  wpseond o miler uy 4. SretiLmd o minder ug 2.
s 2 miindet wg 0.

usoIMILTUTeT Lig 4 SByEHLD.

w2 =5x+27 4+ x*

- @uuedgtIuie Ly 4 LS.
uoFIpInTser Sleveongeneu (Non polynomials)
2x2—5x+3+% A\/Ex+5
x*—3x+2

T3 \/xz —5x+2

sigUansY Lo@PItnT SHdwrTsamer SLGLD.
41



us wrYsefeomen LsOgIMIIT® 6T

D SHIJID

uedemIng 4 x> 3 Bowrisaforer @mmuil. - ug§
ueogimind 12 h? 3 sy ormissilsoren gammuis. - g 6
uedIMINE 4 x2 y-5xy Bowrrisaleone Fmprnd. - ug 3
usbgumind  4x3y - Bl weam wrisefieoren  rond. - uwg 8
udimid 3x? — 2xp + 32 Bowrissfsore weyming. ST )
uedgupind  Sx* — 12x2y3 — x3y3 2 ) - ug 6.

PO wrdulerer (X eaers) LOEPIIYS FUTYSHeTer
SluTH ergend

1. a, (ap = 0) ug 0 ey
2’. a,+ ayx (01 # 0) ug 1 ey@w.
3. ay+ayx + ayx? (a, = 0) ug 2 Su@.
4. a,+ax + ayx? + azx’ (a3 % 0) 1;119 3 auE.

Ay + apx + ayx’ ... +a,x" +...+a,x" (an # 0) ug 7 ByGLb.
Fwwrer / Fiaswaner udgIpItTe

f(x) = ag+ax +ayx®+ ... +a

g(x)=bo+byx +byx? ...+ by x™ asiuen @ usoImIIIEsT eTais.

M=nosew, 0<i<n os a,=b esaw Bouder f,g e
FLODTRT FTUFOSTE LISOEIMILIS 611 sTeTUILIBLD. :

42

UORIDITBETRT Gnl L 60
) =a,+ax +ayx+...+ a,x"  (a, #0)
h(x

) = by + byx + byx? +.......+ b, x™
g(x), k (x) asp Bouodaminisasd s e g(x) + h(x) apeng
)

(b ) i
8(x) + h(x) = (ay +b,) + (a; + b)) x + (a, +by) x4
neuBTed HrouGn. F(x) = g(x)+h (x) erefaar

F(x) B vy < o _wiiey {g(x) B &1 g, h(x) @ 6t lJl;l}

m #n el F(x)@ea ug = o wirey {g(x)@saﬁ ug, h(x) @& uu;} DG
m=n, a,+b,#0adlar, F(x) @a w1 (=m) syEw

m=n; a,+b,=0 e, F(x) @& ug<n (= m) sy@i.
Seieumd o sTemmRIBmE 5.

— 2x + 3x% + 5x*

3x - x* - x° 6.

h

It

X

i) g(x)
(x)
(x)@ & ug =4, h() et g =6

F(x)=g(x) +

F(x)@gaug =6

og

h(x)=1+x+3x2+4x* -

F(x) @i ug = 2_witey {g x)@e ug , h(x)@en uu;}

=9_u_1r'm4{4,6}=6

(i) g(x)=2-5x+3x? +5x° +2x°
h(x) =1-10x - 6x* - x*

g(x)@ar ug =5, h(x) @eiug = 5

43



F(x)=g(x)+h(x)=3-15x+3x +5¢° —6x* + x°
F(x)@aug =5 sy@b.

(iii) g(x) = 4-5x + 1037 - 7x* + x°
h(x)=1+3x- 8x% +9x° — x°
g) @y = 5. h(x)@awg =5
f(x)=g(x)+ h(x) = 5= 2x + 2x* + 2x°
fx) @aug =3 sen.

ucogipiiisafer GlumHaaib

g(x) =a, +a1x+azx2+ ---------- +a,x", (a, #0)

h(x) = by + byx + byx® 4. + byx™ (b #0) .

veogpidsst g (x), & (x) asuapd® Gumssw g(x)-h(x) asusred
@GOG LHLD.
f(x)=g(x)-h(x) = cy +c1x + Cox® 4o, +CminX DG 1D.
Brg ¢, =a, b,

c =ay, b + ab,

¢y =aghy +ab+ar by,

c3 =aob3 +a1b2+a2b1 +a3bo

cm+n = an bm

f(x) @awy = g(x) @+ hix) Beug
=(n+m) sy
44

D _HUJISILD

glx)=1+x+x?

h(x)=2-4 +5¢° - X2 + x' aeis.

x
g(x) @y 2, h(x) @aug 4 sy@ib.

f(x) = g(x)- h(x) = (l +x+ xz) (2 —4x + S5¢2 —x3 4 .\'4)

,
=2 2x+3x> +5x* + x8

S(x) @eug 6 = g(x) @sug + h(x) @awg

=2+ 4

uO@DINTHTST 1G85 &0

Ol gymanls 61mHIDLTTS %60 (Algebraic long division)

® FHugewnn 1

5+4x% —3x g (2x - 3) oo aupss.

2x% +3x + 3

2x—3§4x3 ~3x+5

4x> - 6x2

6x? - 3x
6x2 — 9x

6x +5
6x -9

L ———

14

4x’ =3r+5 = (26 -3) (267 + 3v +3) + 14

D4GLD.



@@  p(x)=4x° - 3x + 5. euguuma (dividend)

Qx) = 2x2 +3x + 3 #ey (Quotient)

(2x-3) auGshd  (divisor)
14 & (remainder) sieiuGLD.
P(x) = (2x - 3) Q(x) + R sx®id.

ﬂ_g;msmmb 2

6 _axt —24+x2 8 xX—x-2 o ugss

P+ 430+ 6

P —x-2)x0 - 2x* 4 X2 -2

x® - %%~ 2x*

e+ x?

xt - xd 22t

3x + 3x?
3x3 —3x2 - 6x

6x2 +6x—2
6x% — 6x — 12
12x + 10

6 _2x? +x2 -2 ( -x 2)(x +x° + x? +3x+6) (12x+10)

Br ey At 4346 e

B 12x+ 10 o.1b oyEw.

2 _gsnyswnn 3
2xt + 3x7 - x -5 asums (x + 2) ey augis.
21‘3 :24»"\*—-5

4 3

.x+2)’h +3x7 - x -5
2t - axd
.-_xJ
—x? = 2x?
2
2x" —-x
ol
2x" + 4x
-5x -5
—S5x~-10

5

Bmig wey (2)(3 -x?+ 2x- 5) 2.1b 158 59 1b sy

BTG Ypen agdee (Synthetic division)

P (x) eaim veommi¥ow (x +a) asiugrsd UGBS Gurg,
GuUPOUGL Fey, B8 aaUMHMDE. SHTIDIFH60.
Buwpenpuled saualies Couemigws (ol Ligser.

L uemin? P (x) @1 Gensmisamer x Seir aeussaiic @umigeuflasuied
IWeIs. X Qo agibsal QeTsallsg Gasnsedd widuw (O)
8Gs. |

2. ougsdenw (X - r) esub angeled SI(PSIE. ¥ U UWRTUGHSHS BJBILmD,
D auflenguigisiten eiemisemsTls atauqhHid penpulsd GuDs.

suGLUTEa (pFeoTeugy Gamssmss £6ip Qaresih aKmHe.
Bpoer I' o160 QuBsH ByaRiTeug Gemssdar dip SIS DS BT Fal (BS.
gal_gl GuDD QUDIDTEISHMS 7 D40 QLighsa) paMTeus GemsdsHar S supd)

SIH_6i1 Fal (Hb. @w@,pmg_nuimm wrfed o_NIlEGS Fal G uedy GHTL b
Qauis. ‘ 477



3. weprn aflesulasion seLfl aeit BHomws SmHD. ORI GEUSH6N
Fol6ST (GBI RIGBENT (GHLD.

2_gHryswnd 4

2xt +3x7 - x-5 m (x+2) o560 auGsewlurg Gumiud FeeIUD,

Showud GHTGSUILWPMD IGHSHED (peold SHTEHS. (2 STFeamd 3 @evisien
efey)

P(x)=2u"+3—x-5
P(x) gar gomsmser. 2, 3, 0, -1, -5

X +2=x-(2) @ug r = -2 G

2 3 0 -1 -5 suflens |
-4 2 -4 10 suflens 2
—2) 2 —1 2 -5 5 suflens 3

52
Fey (2x3- x? +2x - 5) 2 58 5 2.1 SGW.

2 _ FHTyeoaiip 5

Axt 1 12x7 2102 —65x +9 3 (2X - 1) e uGEGWD GuTa GuUDILED
Femeuu|d, BHamuud QEHTGULPEDD aUGHBHED (LPeLD HTERIS.

2x—1= Z(x——l—)
2

P(x) = 4x* +12x3 - 21x? - 65x + 9
P (x) get @ememasen : 4 12 21 -65 9

4 12 21 —65 9
2 7 -7 -36

1.,
1 —-14 =72 =27
2/
48

to | —

_(x-) (4.\--‘ + 1437 - 14y - 72) -27

t

= (Lx~1) (297 + 767 = 7x - 36) - 27

rey  2x7 47kt —7x - 36. 6 = -27

B8, pmiv (Remainder Theorem)

P(x) aeiug x G5 @O ueoemius sriy aais. o g wifedwurs Smses.
P (x)aisiingl (X - ¢) 5460 X mF amyns 9mSE QUG auT auEssLILHELD
Gurgy 188 R eiafsit R = P(d) op@b.

P(x)=(x —a) O(x) + R aas. [OKx) - mey. R - 58]
Pla)=(uv—-u) O(x)+ R 2500 188 P (u) sp@ib.

2 _FHNJeRID 6

i. 4x3 +10x% —19x + 5 @m (x - 3) o augsEw Gurg GuDUUGLD

BdHenwid &mesties.

.s 2
. 0 —2xt 4 x? -2 m (x - X = 2) 260 AUGSHGW Curg GupLILIHLD
vdmwds sTems.

iii. = 5xd +6x? -7 2] x2 —4x +3 60 UGBS Curgl B wirgy?

i P(x)=4x’ +10x" - 19x+5=(x-3)Q(x)+ R
P(3)=4-3+10-3 -19-3+5=(3-3) Q(3)+ R

=108+90-57+5=0+R
R =146
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ii. Plx)=x" =23 +x? -2= (A\'2 -y - 2) g(x) + (Ax + B)

=(x=2)(x~1)g(x) +(Ax+ B)

P2)y=2%-22%42" -2 =0+24+8
P(~1)=1-241-2 =0-4+8B

24 +B = 34

A +B =22

LA=12, B=10 Sgd 12x + 10
{.\‘2 - X -2, g UfsgwGurs W& Av+ B  agale
SIDLHEHBGD GARUNSHS BHoUTDS. ]

ii. P(x)= o sx? 46l ~7:(x2—4x+3)h(x)+Ax+B

]

=(x-3)(x-1) A(x) +Ax+B
P)=1-5+6-7= & + A+B
P(3)=81 - 135 +54 -7 = 0 + 34+B

A+B=-5 ———— (1)
34+ B=-7 — (2)
A=-1, B=-4
SLfs Ax+B=-x - 4

D _HTJend 7

i. Goumy Geupren X @61 BTG GLIMILOTEIRIBETEG, px3 + qxz +rx + 5
wenphEHeNeet p, g, ¥ S eisiuan eeveurd YFAuh eeid &L (Gs.

2| easus 858 90

D q r seaguen pFfud SisGpeier x
smefur@wry p, ¢, ¥ § asuapdndoLBu QsTLiGurdisnns
BTG,

50

" 3 . 2 . .
ii. mt 47 o Bes sTyowi (.\” + l) SLGBTH) M6 Hl M H1awS.

i Coumy Gouprenr muen@ Guupiotenmser o, B. v, § eeis.
pa’ 4 qo’ +;~a +5 =0 —m—()
PR+ gPr +rBrs =0 —m @)
Py gy +ry+s =0 ——— (3)
p& g8+ P8 45 =0 ——— (@)

0

il

m-02) = p((x3 —[33) + q(oc2 —Bz) +r{a—-B)

= (Ot—B)[p(az+aB+B2)+q(a+B)+r]=0

a#f aeGu (a—p) # 0

.‘.p(az+aB+B2)+q(a+B)+r=0 ’ (5)

@eiunGy (2)—(3):>p(g2 + By +Yz)+q(B+Y)+,:0_(6)
)@ p(r2 18+ 87) 4 g(5+8)+r=0—)

(5)-(6) = pla+PB+y)+g=0[a-y= 0 1681 LBT6) | —— (8)
=pB+7+8) +q=0[B- 5 #0aarupre] —————(9)

(8)-(9) = pla-8)=0
=>p=0 [(a—8)¢0 TGS T6D |
p=0 eeflei  (8) = g=0
p=0,g=0, (7) = r=0
p=0,q=0, r=0eaelat s =20
Sp=q =r=5=0 b
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eryefsCapmb (Factor Theorem)

usopil P (x) @e @ usHund a erefiem,
(x - a), P(x) @&t 9m s1yafiwunew.

P(x)=(x-a)g(x)+ R ass.

(xz—-l),f(X) @& sryewl siafe
f(x)=px3+ qx2 +rx+s:(x2 —l)g(x) ST60T .
f()=P+qg+r+s =0

: P(a):()+R=R 61601,
f(-)=l-p+q-r+s=0

. _ P(a)=0 agugie R -0 P(x)=(x-a) g(x)
p+r=q+s: LG

st Geou (x —a),' P(x) @& o smyefurg.
i mxt + x2_1= (x2+ l) h(x) . DMISENEOUIT S (x —a) aaug v P (x) B om styed asfar a

apeg P (x) Qe ysdwiongo.

Bue hx), @yammd LuguiaiEssed GouamGd (x - a) esiug P (x) @en (BT T BILLIT S 60T 60

mx4+x2-1=(x2+1)(ax2+bx+c) P(X)E(x—a) Q(x)
ored e =1 Pla)=(a-a) Q(a)=0
X @t @ammp b = 0 P(a)= 0 aswgned, a oz P (x) Qe @ yFfomgib.

X! B @emad a + ¢c =1 % g =2 5 prgesmd §

x' B @omat a = m xt =613 + 3x2 +26x - 24 e uedmIulet sryeismend sremis.

Sm=2 usHIMILT 4 @b uguled o_elieng;.

x4 4 x2 1 (xz + l) (2’(2 ]) 24 ger sngefisamens smais (G, won B[N EHw)
X -1 =1 x° -

+1, 22,23, + 4,+6, + 8, +12, +24

‘ , Y ot g3 2 _
ueo@IpInt aidest &b (Zero of a Polynomial) P(x)=x" —6x® +3x* +26x - 24
oo P(D=1-6+3+26-24
usdmi) @adenant YFALWLIGGL b @ sTeRigID SILEDEIMIITuTe -0
UFSWD Sy, ,
o _STemD: P(x)= x? - 3x +2 a&m uoDIoWLS SHmEs. (x—1). P (x) @s1r g@smyend
3 2.
P)=12-3x1+2 =0 P(x) = (x = 1) (x> - 5x - 2x +24)
L p(x) @% wibwongb. O(x) = x>~ 5x —2x + 24
P(2)=2>-3x2+2=0 O(-2)=-8-20+4+24=0
-2 ; i
\x) el BaGeTm LFSWDTGLD. s@Gea (x - 2) QO(x) @ o snyesiwnGtb.
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P(x)=(x =1 (x+2)(x* = 7x+12)
=(x=1)(x+2) (x=3) (x-4)

enhib smyenfeer (Repeated factors)

usmid f(x) @8pe f(@) = 0 aala (x - a) agiug f(X) @& 9o
S1geEfun@. (sTyeafsCanmib) S(x) @e Bendp smyed (x - a) e

S(x)=(x-a) g(x)

T =L [ - ) ()

[1(x) = (x-a)’ g'(x)+2(x - a) g(x)

=(x - a)[(x - a) g'(x)+ 2g(x)]

(x - a) h(x) ‘

SUGuTpa

I

21,&Be6u (x~a) IS f’(x) B8 om sryefungb.
®_ SHTyswrnn 9
) -5x2 4+ 7 & (x - ])2 S0 AUGEGD Gurg GG BHews sTeas
f(x)=x*-5x2+7 = (Jr—l)2 -g(x) + (4x + B)
f()=1-5+7= 4+B

A+ B=3 ‘

3 2 a 2

x° =5x"+7=(x-1)" g(x)+(4x + B)
Bousspd X mé GHHg suemnaulL
3x% = 10x =2(x~1) g(x) + (x—1)> g'(x) + 4
x = 1 eernigdui

3-10=0+ 4
A=-17, B=10

aamGeoy B =—Tx + 10 ay@w.
. 54

»_Srysanp 10

- 9x% + 12x + p Be Bend sryefss Goilsp Be Buise

G IMIDOT BIRIB 6T BT 60TIS.
f(x)=2x> —9x? 4+ 12x + p
J/(x) 8o Bend smrafsst miusTed, odsryed
1 (x) B syafiutsan Buaeib.
J(x)=6x" ~18x + 12
=6(x* - 3x + 2)

=6(x-1) (x-2)
siBeu benid sngad (x — 1) oideogl (X — 2) o8 BEEs60 GoumiH.

(x- 1) araflen f()&) =200~ 9x2 4+ 12x + p esuglen,
S() =2-9+12+p =0 sz Cousmid.

p+5=0=p -5
(\-2) Bemd sryenil erafe,

‘/(2) = 16-36 + 24 + p = 0 oz CousmiH.
p=-4
oo P Bt Bwedg® Gupuorteimisei —5, —4 LG

Qungisanyesollasi (common factors)

S(x). g(x) oaigib Bo uodIMILE sTiusEBHE (X - d) om QuT IS &N e
oefar, Ki , Ky wnmieSasemas @mss (x - a) agug Klf(x) + K, g(x)
Ba1 sTgeaiuTsad BmaeEIb.

(x-a), f(x) @& g® sgeR [ (x) = (x-a)p (x)
(x-a), g(x) @&t 90 smyed g(x) = (x-a) q(x),
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Ki f(x) + Krgts) = Ky (x~a) p(x) + Ks(x- a) g(x)
= (x — u) [I’\', p(x) + Ky ¢ (x)]

as6a (x-a), K f(x) + K, g(x) @& snyehungw.
o FHuyesond 11

3+ ax? + b, ax>+ bx? + x—a sdw B0 veoORIMINISEHSESL.

em Qurgidstyeni Gmiaiar @1 QuTaEbsTy e, (b - az)xz +x—a (1 + b)

s1e1n LOImUIuleagnd srTyaiungh aamds STHs.

P(x) = x> + ax® + b, O() =ax® + bx? + x - a asuaPHa

QurgSaTy e (x - a) 1601,

P(a)= o+ aa? +b =0 )
Q) =ad’ + ba® + o - a = 0+— )
(Nxa, aa® + a?a? + ab =0 3)

(2) -3, (b - a2) o + « —a(l+b) =0

oGy o SIS, (b - az)x2 +x = afl + b) aep usdemnSuisn
wsdwd Sew. o (x ~ a), (b - az)xz + x - a(l‘ + b) ey
usvgumnTuler smyesfwir@ib.

2_srjesrd 13

3 2

ax” + bx + ¢ ea&iug amgemp x° + px + 1 eoLw gm srgeicws

Ganan Gaaflsi g2 — ¢ = ab awé ST_(H%.

56

856G ax +hy+c 20 cx +bhxlia 2 GuIs BmUgs Sryen
QuiTaienm 2 e wWlFSHU®S 2_uissHs.

P(x) = ax® + bx + ¢ — x @ WaIDTD Liguieomengy.

x? + px + 1. @remmbug. eerBeou whHenpw  STyes gaufiomemomerg)

(pgeomd ug). CGoaw p(x) Bed 3 @ Gemab a, LIPS ¢ SpHE0TEDd

ax® + bx +c¢ = (x2 + px + 1) (ax +c).

c
2 @& @ewman: 0 = ap+ ¢ = p = -=
- a

X @&t gewa: b =a +cp = p =
c
22 ab

—_— = — D a’-c¢" =
c a

a, ¢ # 0 gpemsuwned x = 0

ax>+bx+c = (x2+px + 1) (ax+¢)

3
a(lJ +b(l)+cs Lz+£+l (£+c)
Yy Y y Yy Y
cy3+by2+aE(y2+py+1)(cy+a)
= o’ + bx2+as(x2+px+l)(cx+a)

a@Go qx3 + bx + a, cx’+bx? +asdu @yemgnen Gurgl @mus

&STT 2_eieng,).
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2 _Hiyewmne §3
Jsuflotens srgafsc G aigeeand BTGNS ¢LP6VLD

(a —.\‘)4 + (x - 1)4 - (u - l)4 Db SR ILBHSI.
Bmig d mmL oLGL.

S(x) =(a - ,\‘)4 + (x - l)4 — (u - 1)4.

a - v0-(@-1) =0

~

—

N’
n

. (x - ) @& g sTyen.

fla)=+v - 1)4 —{a - 1)4
=0
x - a) f(x) @u STrefluT @i,

JX), x@6o 4 st wguiisvisiionsy). srenGeu sTehdlLieNeng) X @eft 2ou1b Liguguisiienay.

Guaid /(X ) @ed 4 @@ Gemsd 2.
(@-x)"+ (-1 —(@-1)*=(x - 1) (x,- a) [zx2+mx+n]
@ m,n asuanoD @ @ srem GousTib.
¥ =0 o& g+ 1 - (a - 1)4=an
at+1-(a*~ 4d’+ 62> - 4a + 1) =an
> n=4a* - 6a +4
X @t @amst: ~4a’ ~ 4 = ~(a+ n + am

-4a® - 4

—(a + 1)(4a2 + 6a + 4)+ am

—403—4=—4a3+202 +2a -4 + am

>m= -2(a+ 1)

f(x)~=.(x -1)(x - a) [2.!:2 ~2(a+1)x +4a* - 6a +4}

=2(x - 1)(x - a) [xz‘ —(a+1)x + (2a2 -3a+ 2)]
58

uuRBs 2
Uareaumeuseunenm ( @ ) s syasis CrGw Ufsse apenp (b) Gsr@iny
WPOD AIGSHSD evld, ey, 58 b &HNawIs.
i. (x2 +3x—7)+(xf 2) i (2x3—3x+ l)+(x—2)

vi.

i 3x% - 16x2 — 3x+7 B(x+2) o6 augsEd Gurg BHemws sTems.

-t X% -2 8 X2 - x—2 e ausEED BT flenuid; sTeni.

oS- 2 -2 g (x-1) (x+1)(2x-1) @
aGasGw Curg BHemws sTemis.

ii. -7 +4x-2@m (x—l)(x+1)(x-—3) 2460 AUGHGW
Gurgy AW HTews.

x3—’px+q ® x? - 3x + 2 o460 augd@d Guig 15h 4x - 1 aefar

D, q @5 TN

f(x) =2x* 4+ ax? +bx—60 aaim. (x - 1) a0 f(X) m augse.

Gurgl B8 94 e (x - 3) f(x) B 9m sye. gmenwasi
a,b gs stemis.

(xz + 1) RTLZ <+ px3 +3x + g oFUBSE @ Syl GTGiﬁ\FaTP,q

ssiueubiel GupITEEIGEES STeNis. P, g @6 @ QUDIDTETHET 5@
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x4+px3+x2+3x+q+l=0 SIGHND ST g6l GUukIpeUBIBmens:
ST,

7. uveooumd f(x) ez, (x - 1), (x - 2), (x - 3) ;e GHESGD
Gurgr B8 a(x-2)(x-3)+b(x-3)(x-1)+c(x-1)(x-2)

K6W0. gmewsea a,b, c @ f (l), f (2), f (3) B60 HICHIS.
koi gmewuns Smes

2+ kx?) g (x-1)(x-2) (x-3) e asien Gung BBHTo

o _milny x2 @eounHmplusneTer kRl QUIRDTHISMSS TS,
8. usommnd f(x) sy, x> — a’ (@ # 0) o0 wgssLED Gurg
' 1
GupiuGy B8 i [fl@ - f(-a)] x + 3 [f@) + f(-a)]

2 . ..
aod SILEGS. x" — a" . x> T @ o agsew Gury
i n @len . ii. nghew suEb Curg BsHoud sTeRis.

9. asmeaRs Copmess saps. .

(a) IGaph udgpEnismad srgaolundss
@® x*-5x° - 13x2 + 53x + 60
G) x* - 16x> + 86x% — 176x + 105°

(i) x%—x2 (5+ a)+ x (6 + 5a) — 6a (a — gwenw)
(b) vaapd swdnmGraas Diss
@ x2-7x2+19x-13=0 (i) x* - 15x% + 74x = 120
Gii) 5x° +31x% +31x+5=0
) X —4x* +33 + 32 —4x+1=0
Mxtex -4 x+1=0

60

10. () 2x*+ %3 —x24ax + b SIRILING (xz - 1)33,61') UGEGD GuTg,
B8 2x+3 eyt a. b @eir QupioTemiIEamms Srams.,
Gi) x* — 5x3 4 8x2 —5x 4 | = 0 sifigid FLeILTL iges
APEUBIBENENE &HITETID.
1. () % +2x7 4 gx? +bx +c asug x2 4 x -2 STEHIUSHT 60
shwure  suguLS FaQUIBSTHAD, (x+1) Sped ouGSSLUGHD Gungy
-8 St Qanhosd gapuisTsard oudar a, b, ¢ asuamenDs

ST,

(ii) 3x2+5xy—2y2 ~-Sx+4y+k = (lx+my+n)(l’x+m’y+n’)

 euswiemd k,I, m, n,l',m’', n' eceybd LD NN &
NG QI
ST,

12. 83 Gzimsamss smbl, sismen Bpeys.
() f(x) esiug x @er UOIMILYE sriuTsapd, f (1) =a,

f(=1) = b, f(0)= ¢ sysamw Ui f(x) ssiuemg
| (x? 1) 40 augsesmouid 155 %(a*b) x+%(a+ b) emism G

S(x) asuems (x3 - x) S UGHES LD IBHDWE TS,

Gi) ax3 +px2 + cx +d €& usdVMILEF Fmiy, (x2 - 1), (xz - 4)
TSIUIDTEL USESLLG CGug) Wbl apepmGu Sx - 2, 1(x - 1)

opular a, b, c, d aguaunenns snewmia.

13. () f(x) asug x @ar gn ueogmini.  f (x) g (x - a) (x - b)
SIFUBTED uGSsULGLD Curg B

; [f(a) - f(b)} .., af() - bf(a)

e Bmieys.
a-b a-b
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14.

15.

16.
17.
18.
19.

20.

21.

@nig a,b esiuar gmewsst, a # b

F(x)E x7+lx2 +mx+n asug x + 1, 2 —x e@ueubDTEd
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(i) axz +bx+c =0

2 +7x+8=0 Qa1 oomsefng umwells Fwwrsap, GHseisd

afynasapd © W ApemIEamenS Qe &mailugl'_mui; ST BV

ax’> +bx+c =0 @e apeonsmet bx> +cx+a=0 @1 apeomiseiet
apaim wLmGsefsr a, b, ¢ @malen_Gus Gi,rn_r'rq gamiame Qums.

PX’ +gx+r=0 @ qpormen rx’ 4 qx+ p=0 @6 apeorimefien
Z;mm’s@,crm&asnt@&.

x? + px+q =0 @ apeonsmeiian ITESEBRT APEIBNTSS QeETasiiL
ST DLE HTERIS.

. 1 I L
a, al easwen (x - B) (x -B ) =Y aoignd FOGILTLQET APEOEIET

aafer (X~ o) (x - al) +7 =0 agud swam yer apeomise B, B'

| eIeRBBTL(H.
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32.

33.

34.

35.

P +bx+c=0 @ apenssit o, B sEamd x2+ Abx + A2c =0

,0 oEad @ominier
G (ay+Ppd)(ad+ By) = 2)»2c(b2 —2c)

@& peOmIS 6l

i) ( y+Bs), (ad + BY) eeueudenn apeommeTss GaraR

swan® x° — Ab%x + 2% ¢ (b% -2c) ambsmn Gs.

k 9om Giowi wriflefums Gmebas 9x2 +6x+1 = 4kx eimid sFwei

uT gl apsomimenr o, B eredfa,

1 1
(a) —(;, E SIGILIDEND APEIEIENTSS QBTEIIL ST

¥+ 6x+9 =4kx amssIGs.

(b) a,p Guuuwrs Guésw k @& QuuTENEmNS STamis.

(© a,B CrimEw aenemnd k Qa1 QupITEITE®meTS STasis.

2+ px+q=0 B pomsst a, p aob.
() wpoomsele elgHuTsd 2 ﬁ sieab, apsomisefian Hemeodipll

GuproTeTEsefidl Fal GSOBTNE 4 saad SIS D, q aieseuiyie
srgdunonen QUDIOTANEIEEDENE HACHIS.

. 2 2
(i) a+EaB + o SSiucubeD apeomisemas Qamesin

SO NS &IOS,
f(x) = x2+(k+2)x+2k Iehs.

(@) & Qe asenGuus) Qupamemmseien, f(x) = 0 @ g
. Quumnmeienes aad STL (5.

®) f(x- k) = 0 @e goorimeenss sresits.
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36.

317.

38.

(© f(x-k)-2x= 0 Gei apovrissseit x = 0, 7 aefleir, k @it
GupOTEISMBS BNeRi.

k @e @ Guprorens Bixs, £(x - k) - 2x @t @it Gupronensengs

SHITERI.
@ 2c=2-k amggyiuymss, fx-k) +c =0 asp

SOALTLYE Wpemsa Fwraieme aaiGsT Gs. k = 1 oyewb GuTws
BEFOAPRIERNETE BT,

® fi(x)=x* +px + g, fr(x)= x* +p'x + ¢’ aeis.
£ (x) = 0 89 qopesdomn, f; (x) = 0 @ oo
@GW b Bal (G5GgTmS YSALOToUSMEG N [BUbSeaenLs STems.

(i) a, B asue hi (x)= 0 @engud a'., B’ eeiuen
f2(x) = 0 @engud apevmisenTuiHbs
[4 ’ r 2 ’ ’ ’

H@) A(B) = @) £,(B)=(a- ') + (- P) (pa’ - P'9)

SIRNBSTL (5.

@) a® x? + 6abx + ac +82 =0 SIGDAD BN SLOAPEIRIEENETIS:
Qamesingmiaes ac(x + 1)2 = 4b%x SIGDID SFOGIITL IGENT CLPGIBIBETHD
FIOIDTRTEN6U ﬂﬂl&&ftf_@&,

() 3x% - 5x = k Reir apeommair 4:3 ergid SBBHHSMITIeH k
8 GupTEZD L Hrans.

ax’ + 2bx + ¢

0 @ gpomasst o, B aciar,
-

a

a’ + 2bx + ¢

G HSLT YT apeomisener o,

B0 srevis.
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39.

40.

41.

2

B o,p ague ax’ + bx + ¢ = 0 @1 apeomseT arafe,

ex? —2bx +4a = 0 B gpoomisemen o, B Bed ETaEs.

‘ (ii) Sarupw gorsmIw FVGILTGES Guouiperwenms Garaingmi

ughETar ), @ IsHGmDbS, I0&5mIW GUDIOTIISEMSE HhFeHIS.
x? +xy +yr= A

-y + =1

(i) o,p eewe k2x2+(kx+1)(x+k)+l'= 0 Qa1
QAPEOBMBENT(EHID.

@ug k0, -1- a+p, af gk B« o _pinEssisd sress.
a?B? + (o +1) (a+ B) +1 = 0 aam Ppe.

(i) x2— kx+4 = 0 @& gpoomsen Guounins mbGd k B '

QuproT BB NG TR,

(a) wpemmer Guouunsapd, GEITsatd BmEGD k B QUpROTEMEEmeNS
HTERIS.

(b) apevmimsit Quumseud, Cryrsa, 3 : 1 aeaun sewun k Be
GUIOTBIBIBENEND BTGNS,

a b esiue swwHp Cpi aeNBMTE Bmbs,
A a b

'2; = x + 1 + x —] Seud sodiurigened SIiu@L x B

QupIoTEEISST FWITE BHSGLIM ), BT Qumlm_nanﬁl&mm a b @

SITRID.

83 o ewmowurGorpeion ), B Bk QuprotesiEst A , A,.s50m0,

B8s00a1ss X Q&1 GuUpDTEKSST X, X, e Boula
2 . .

AMA; =(a - b) coepp x;x;, =1 aamapd Bpeys.
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42.

43.

9x% + 2xy + y? - 92x - 20y + 244 = 0 aefian,
3<x < 6 aanayb, ls‘;y < 10 aeayd Hmiays.

a, B eaeiuer x’

+px+q=0 eaaip BOuyFsFoauTL pai
ApOmGENTGID. BmKG, p, ¢ QuUIGWeRIS6T SpELb.

2 . . . . .
SIQILGUDEND  (PEOMmIBETTHS QBT eI

A=a+B°,p =B+a
FOGITLDLE ST,
a , f esua spuseturerenauGuwedsn, p = -1 aafiar LG A 2 tb

B o b Guuurgy aer Bes.

- @eiuemsuled A = p = 1- g eaen Hgeys.

44.

45.

46.

252 —gx+r=0 aap swauTLysr apeomssear o0 + 1, B+ 2 ouEid;

grga,B eeium ¥ bx+c=0 eaaim soauryea - Qoul

WORSMTEAD, O > B MesaUd o eiengl. ¢, 7 asiuaben b, ¢ @ed
L}

s1ens. o = B ey@bGuis g2 = 4 (2r + 1) oendam Gs.

() o,p easiuer Grenpw Goyrsaub, o s [32 AT
2 —bx + ¢ = 0 @& ppomseaa At (QHE
b>2c>0), a,B m apeossmeniad GETEHIL FOGLITL DL & STEHIE.
(i) px2 -8+ p —6 = 0 aGId FORLITL QST APEOMEIGET
Guunnenena aiefliar p @er alFawng?
x? - px + p = 0 aan FWKUT T (LPeLBIBEHLD GLousiImenanel
sengsyiget p Qe yHwelFs wng?

fx)=(x-8)(x-c)+(x—c) (x—a)+ (x - a) (x - b) spe.
[@mi a, b, c QuuiGemissT asderd CapBamratana)
f (x) = 0 aaip swaLTE Quumner CamGauprer (p, g .asis) @
WEIERTE CETERNYhEGL s ST (5.
ptq, pq asusupep a b, c e snaiis.
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47.

48.

49.

50.

() P b q esinen saiied elpgduier @uisien ¢, b, a sats & ApsHuied
Baseh aeeyw [ (a) = flc) =-2f (b) eawmepd @ Gs.
1 1

>

(i) ¢ b, a asue GuEpsssd admabHuIsd Gminia p b’ asiues

1

q
ol Led el(ps5duled Siemwub steteayd & (Hs.

Seeumd el Gamgd CarBaendbtan Guupore CoTamnbmssd Hiews.

M) 3x%+2xy -2y =0 Gii)) 2x2 +xy — 4y = 0

(i) x2+xy -5y =0 (iv) x2 - 3xy.— y* =0

daieumd Gomgd GarEaalial FATGSMmMS HAHSENUTHE &HI6wIS..
Q) 3x2+xy-—2y2 +5x-15y-28=0

G) 2x2+xy-y?+3x-3y-2=0

@) 3x2 —8xy-3 y2 = Qo460 SIUUED BB CarHaefie
FWHLTHBM6NG SHEGHSRNITHS SIS
() ax®+2hx y+b y2 = (0 @b FAHUN gaNed HyUUbHD

CriGarGmsied gam (1,2) @b saLvsaub, wpepwa (-3,4) Bn
saLnseoyd Qsevdlama. a:h:b g ereis.

Gii) x2 + 2hxy — y2 = () elyb SwAHUTL 1M SHFULGLD B®
CriGaTHeEnDd EMIEGETEIN QFRGHHTama salsh ST [Hs.

@ x2—xy— ky2+2y+x —1 =0 end swaLT®G emGamg
CriGasrHaamens GHbGGwalar k Ba Quprorand wirg:?

(ii) y2 —4xy + x2 = 0 ecigp swaELT  yomed SILUGD B
CriCasTGHaeyd gaepownam 60° Qe B Qan Ghamet
aenEET (5. oIt gehIGHTH x srsLa 15° g oemviddng
aadsly, geRang Critasm GLaud 60° ;m sewiugd,

2 pusHBEG Gaedagires CHIGCHT YT FGUT L& HITewIs.
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4. HBLIYFITILSHN, NBBHAPWI FTTLBHT

8ouyseriyser (Quadratic Functions)

a, b, c aswen GuuiGuesisaTesa, a0 eapfmes

f (x) = ax’ +bhx +c oeiugl, wrf X @eonen @MmuUigsF STTY ByGID.
f(x)=ax® +bx+c

-2 b c
=d|xXx +—x+—
a a

, b b Y ¢ #
=a|lx"+—x+|—| +--—
a 2a a 44

auemad I:a>o

2
b 4ac =~ b?
= +— +—
f(x) a (x Za) 4a
b _4ac -

J\::;t—i afle a(x+i)2>0
2q T 2a

b _p2
24,586y x¢—-2—‘—1- arafled, f(x)>4L£—
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a>0 ecfien X -

Qa

dac -

B feaIGuDoTEmE -

4a

a>o

2

b

() b% - dac <0 siwlen

h
@ f(x) @be @by 2 an.

DG

(i) 5% —4ac =0 eafar
fx) @1 @Pfeyts Quuuorends = 0

f(x) @1 @ifas Gugorend > 0

(iii) 5% —4ac>0 asien

L p2

da

f(x) @1 @feyi Gugnoremd < 0

\

\J ()

-b
2a

a>

(o]

A=b —4ac<0

\/\f (x)

A 4
®

> X Af @)

b
2a

a>o o =
b* —4ac=0 [ %S
a>o
b* —4ac>0
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®

b2 —dac < 0 asfian, y=f(x) agub sumenul x oiFems Qe Lngy.

(ii) b2 —4ac = 0 eefian. y=f(x) agubd susmenud x SFengsd OHaHLD.

(iii) % - 4ac > 0 asfa y=f(x) siub suemenul X oens @p Lsiefsefed
Qe (Bid.

& FHTJRID

()

(i)

f(x)=x"+x+1
Gue a=1>0, A=l1-4=-3<0

f(x)=xt+x+1

1 ) 3
r=-1 g (x)=1

o 4

W

1
x;t—i aefer f(x)>

1
X = ~3 @ f(x) Ba1 @faQuumnorend %

f(x)=4x* ~12x +9
a=4>0, A=144-144=0

f(x)=4x> -12x+9
=(2x - 3) \

_3 e _
*=2 @ f(x)=0

3 ) - .
x¢5 aefen f(x)>0 A

x=— @ e, BfeiGupiotens =0

2 110

Gii) f(x)=2x2~x-6 1
a=2>0, A=1+48=49>(
f(x)=2x* -x-6

=2 xz——x-3]

/
2

1 49
xX=— ; xX)=- -
7 8% f(x) g
x:tl e f(x)>-i9 r-l : : .
4 sTenfegn g YT 860 @PeyiQuyoTed = 3
suena II
a<o
2 L2
f(x)=ax2+bx+c=a(x+—é~) +i€( b
2a 4a
b dac - b*
Fp—— % X)= —_—
x=-—— @ f(x) ia

2
x;t—i siafest a(x+i) <0
2a 2a

2
2,506 x;t—zi aiefiet f(x)<fac—b——
a
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a < 0 aafar,

X =-—2i 86 f(x) @he o_wie 2 &G
a

. . 4ac - b* .
o_wiayl Gumuorend —— @b,

4a

a<o

(i) b2 -4ac<0 asis.

2 2
f(x)=ax2+bx+c=a(x+—b—J +4_ac_:_1:‘o_

2a 4a

4ac - b?
4a

<0

J(x) @a o wiapiGuporens < 0 soyeb.

2
Gi) b2 —4ac=0 osis. dac—b

4a
S(x) @a 2 wiays Gupuomend 0 sy@wb.

=0

(i) 5% —4ac>0 ass.

dac - b?
4a

>0

S(x) @& o wiawiGugorens > 0 oy b.

A A

/(3 e »
T > X
*3%a - h";

dac - b2 . : - {{ > X
4a
a<yo0 a<iy a<?o0
A=b*-4ac<0 A=0 A>0

&ﬁii}
(i) b%-4ac<0 aelar, y= f(x) acigid cusmanul x o¥ems Geul Ligy.
(i) 5% -4ac=0 achar, y= S (x) asimip suemenul x sikemnss CHTEHD.

(i) 5% -4ac>0 aelai, y=f(x) acigis aoaul x osos
Boysieiseied Qe Bib.

SN Jeund

i f(x)=-x*+2x-6; a=-1<0, A=4-24=-20<0
=—[* -2x+ 4|
=“[(x—l)2 +5} A /(x)
=—(x=-1"-5 x

x =1 aafled f(x)=-5
x#-1 aafed, f(x)<-5

x=-1 @ o_wieys Qupuorend = —35
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a=-1, A=16-16=0

f(x)=~(x+2)
x=-2 @ f(x) =0
x#-2 aafed f(x) <0

xX==-2 @ o wie)) Guuorend = 0

(i) f(x)=-x*+5x+6

=-b2—a—6]
[( 5)2 25
= - x—~— —_——_— -
2) " a
( 5)2 49
—a x—— ——
2) 4
5 49
Ty ee =Y
x#% aefia f(x)<%9—

5 49

x= ‘2‘ R o witeyl Quyuomenb T

y= ax’ +bx+c Ba1 amand uFeueTAITELD.
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a > 0 symapb, b? —4ac<0 Symaib S@piniast X S
STORTLISILIPIDIT A RIS EH & GHLD ax? +bx + ¢ CHyTeag OLGID

f(x)=ax2+bx+c

1 7

( b)z 4ac—b2J
=allx+—| + ——
2a 4q

bjz dac — b*
=alx+—| + ——

“2a 4q

4ac - b* .
a>0, b —4ac <0 eywswned %—>0 S0

2
a > 0 gpeoned x @6 TOOTUGUDIOTATRISEDSGL (x + Z) >0
56 X Bl el GUIIOTRTRIGEHSSGILD X ibx+c>0 LS.
oTeus, a>0, b2 —dac <0 aafler, X B 60N QUUIDTETESEELSGD

ax? +bx +c>0 @@

b Y _
Gogip ¥ =2 @6 f(x) @a1 @faiGugiored 4ac4—b G
a

a < 0 aymsad, b2 — 4ac < 0 Smaud S@intsr X Ser @il

SILIPRDIT RIS @ & GH1ID ax> +bx+¢c<0 OGHID

f(x)zwc2 +bx +c



dac — b?
— <
4a

a<(, - 4ac < 0 SHBWNED

0

2
a<0 syseomed X @t eT6d6VTLI QuuoTeIERISL @W a(x + ———J <0

2800 X @6 el QUUIOTEIEIBEHSGL ax> + bx + ¢ < 0 LG LD

Gogud X = ——b @e0 f(x) @& o wieai Guuwresd 4_aci2_ i
2a a m 4a BLGID.

o _gsryemnd 1

X @6t aredeurl QUUIDTAIRIGEDLSGW 2 2 +2x+3 Cryneng sIRESSTH5.

2x2+2x+3=2[x2+x+%]

2
1
[x @1 QuunGuproTmEIEE,S @ (x + 5—) 20]

S X e stedeom Quoulh GUDNOTETRISEhBELD 2x% + 2x +3 Copynensn@.
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2 gHrycond 3
y= 3x2 +5x + k aam sridan Sifet QuDIOTHISMSS HTEHIS.

(i) eauemenul x oiFmasd GorHGWET6T
(il) eausmenud x s Ga GOwsla, k Bt QuUUIETHIGZMSS STENIS.

y=3x2+5x+k

=3 x2+§x+£]

5)2 12k - 25
=3ix+—-| + ——
12
X = R o 12k-25
T @ YT
x#—é .y >]2k—25
6 stetiest y —————12
12k - 25
. anrler @feyl GupnoTembd BETEE
12k - 25
(i) euemenud x SiFss CBTHGLNE BT =0
' 25
12
12k - 25
(ii) auememud x DFens Gan HGWRaT T< 0
k < £
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[y : @eugssriy amend y=ax? +bx +c
x owmss GerGasp® b’ —4ac=0

y= 3x2 + 5x + k, X omss QaTEGn e,

A=25-12k =0, k=E
12
x oans Qe L GeusmiGOwellar A >0 ome0 Cousmi(phib.
2512k >0
25> 12k
k<2—5 ]
12

® FHryewnd 3
F(x)=9+2(k+4)x +2kx? (k = 0)

x @& eeveon Guunl GQuuuoTenmisEnsGL f(x) Cohyngwrm £ Ge
QuporeneaiFengd HTawIS.

F(x)=9+2(k +4)x +2kx?
=2kx? +2(k+4)x+9

X Bei asbeom Quouil GuEuoTERIESEESG0 [ (x) >0 spausne

() x> @&t @emab 2k>0 ope Gausmipw. (il) A <0 e GousmiGd.

() 2k>0 = k>0— — — — — (1)
(i) A<0 = 4(k+4) —72k<0
(k+4)’ —18k <0

K2 -10k+16<0
(k-2)(k-8)<0

(1), 2) @dvbe, 2<k<8 sEw.
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o _Fpryesun 4

p-x stailumg'),rﬂail Qouil QUIIDTIBISETHEE
f(x) = (2p2 + l) x? 42 (4p2 - 1) X+ (2p2 + l) 4G

sy Bfans eSS P, X Bt GumTemsamenub, il @feyls.
QUDIDTISMBUID T 6T1&b.

(2p2 +I)x2 +2(4p2 —l) x+4(2p2 +l)
=2p° (x2+4x+4) + (x2 —2x+4)

=2pt (42 (x- 1) 43

p.X @ eedeomis Guoull GUINDTEIBIBEHSSWD 2p? (x+ 2)2 >0
(x-1°=0

p =0, x=1 geb Cutg wLGDd 2p° (x +2) +(x=17 =0
Lp =0, x=1 s srinfien @yt GuunoTend 3 sy@b.

ofSspm aviyser (Rational Functions)

g P(x
P (x), O (x) eishiuen x @ BGHUOIPLYSF STTUSMTE BHBS QE ; siiugy
(x

(Q(x) £ 0), x @60 eSBapm FTAY eTeILGBLD.

P{x ‘
P (N@sug < Q (x) @eug - aafer, Q§ ; wenew lEsupm  sMiTY
x ‘

(proper rational function) aeniG.
- P(x) . .
P (x) @it g = Q(x) B Uy aefie —Q—(—S wepamwulsd eldgsupmsTiy
x

(improper rational function) a&ULGBL.
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D_ 51D
x+4 _x2 —x+1
ix+l X +2x2_4 -~ opow sdsepm sriyse
- 2x2 -3x-5 x2 —x+1
x+2 Zrxsl - Wweomemioulsd eldlBpmI FTTYS6T Dy ELD.

2 guyeond 5
6x + 5
3x2 +4x +2
3 e Cuafuueiar abs @ Guanoreigmsut abHsaETOsas ST (HS.
6x +5
3x% +4x+ 2

X e Quuils QuEoTetIBELSELD agd iy —% BnGw

=Y eaeis.

3yx® +(4y - 6) x +(2y - 5) =0
A=(4y-6) —4x3y(2y—5)
=-8y? + 12y + 36
X @& QuUIGUUIOTETESEHSE A > 0
824 12y+3620
2y -3y-9<0

(2y+3)(y-3)<0

3
-~<y<3
2 =Y

‘. &y _% @vew, 3 @uew CaalCuwesisn abs §m GuEIoTEIS Mg Hu|LD

aBSETH.
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® FHTyewnib 6

2
x°-12
X @& QuUItQUIILTRTEISEHSE ox_7 @b emiy 3 @pew 4

oo uigisiam absCaurm GumioTaidamsun AB&ESTH TMBBTL(HE.

-2
2% — 7 YV aas.

x*=2yx+(Ty-12)=0
A=4y" -4 (Ty-12)
::4[y2 ~Ty+ 12]
X @6 QuUIGUDLTaMRSEEE A > 0
4[y2 ~Ty+ 12] >0

y2—7y+1220

(v-4)(r-3)=0
Y<3 sz y=4
ey 3 @pew 4 @peimLuled absGaurs GuUILTMSmSWLD ABEHETEI.

2 _SIyesNDd 7

(x-2) +16
2(x+2)

x Quuuns Gmés a&I@ID FUiTYy
—4 (\/5 + 1) Brew 4 (\/5 - l) @nedeLuligeia a5 sQanm

GupoTEISMEUD TREETH aTIGHTL (B,

(x- 2)2 +16
2(x+2)

=Y eaeas.

x? —(4+2y)x+(20-4y)=0 121



A=(4+2y) - 4(20 - 4y)
f=4[y2+4y+4—20+4y]
=4[y2 +8y-‘16]

x @en QuuiGumuoreimisese A = 0

¥ +8y—16 20
2
/ (y+4)2 —(4\/5) 20

(y+4-442)(y+4+442) 2 0
[y-4(v2-1)] [y—{—4(ﬁ+1)}]zo

ys—4(J§+1) . y24(s/5-1)

syl Gamrensu —4(\/5 + l) @new, 4 (\[2- ‘-'1) @@t ufled

baRQeuT QUIOTIIGHMBUD THHBTSI.

o _gujesnd 8

x> +3x-4
5Sx -k

abs 9 QuulGuproTaSeguld 6Hae0weliar k @& RuistsE Quuiores
EONS HAHIS.

st &MY QUImHSBOTET X @6 6T6060ML GLINLDT BRI ETHED (&HLD

x> +3x-4
ﬁ_:y 61615,
x2+(3—5y)x—4(ky—4)=0
A=(3-5y) —4(ky—4)
=25y" — (4k +30) y + 25
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¥ @a GuuiiGuporatismes A>0 sype GG,
25y% —(4k +30) y + 2520
V @6l a1edemlt GUDIOT eI EThE @D
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(xz +2x + 3) (2x +1) 18. (x +1)°

2}c+1

(x +1)° (2x - 9)

4+3x+2x2F 4x

(B) ugas iSRS aTSSHD

L G+ (x-9)

2x2 +x-5
(x+2)(x+1)

. ”22. (1 _ 2x)(] _ xz) 23' x“,x:ﬁéi

3x* +7x% + 8x% +53x - 186

(‘x +‘4) (x2'+.9)

x* 4 x3 - 19x% —44x-21

;(x+1)(x+2)(x+3)
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S. FweataVBowT (Inequalities)

a, b asiuer @ QuUGWET a&is. a>b oo a = b sedws

a<b a5 @mé@bd. a>b e,
a-b5b=x g
a=b ealar a-b=0 ayw.

a=>b+ x aem ewseo.
@eg x > 0. By a — b > (.
a<b esflar a=b-1x,

@ug x>0. a-b=-x<0 gEw0.

aenjaiedsaud (Definition)

a-b>0 asfer a>b aewu@n.

ii. a-b6<0 adfet a<b aaingn, P2 ER
a®luuysser (Propositions)
1. a>b acfl@t a+c>b+¢ 1. a<b aefleii at+tc<b+c
a-c>b-c a—-c<b-c
2. a>b:m>0 asfiar, ma>mb 2. a< b, m> 0 asfeii ma<mb
n<0 eaefer, wa <nb n<0 easfer na>nb
3. a>b,c>d aafen. 3. a<b,c<d aeflen
atc>b+d atc< b+d
4. a>b>0; ¢c>d>0 acfen . 0<a<b, 0<c<d asia
ac > bd ac < bd.
Bpieued:
1. a>b ass.

orenGeu a—b>0
(@+c)-(b+c¢c)=a-b>0
osgtag (a +c)— (b +c)>0
S6060, a +tc>b+c
(@a-¢)-(b-c)=a-5>0
140

~,9|g,nm§,j (a-c)-(b-c)>0
58 a—c>b-c.

2. a>b, m>0 eaas
a>b mgeoned * (@a—-b)>0;m>0
258, m(a-b)>0
) ma—mb>0
ma > mb.
a>b;n<0 aas.

aaGeu (a—b)>0, n<0
n(a-b<0
na-nb<0 a&Bou na<nb.

3. a>b;c>d aas.
a>b; &858 (a-b)>0
c>d o458 (c—~d)>0.-
(a-b)+(c—d)>0
(a+c)-(b+d)>0 88 a+c>b+d

4. a>b>0; c>d>0
a>b,c>0. ca-5)>0 =
ac-ab>0; ac>bc— (1)
c>d, b>0;b(c-d)>0
bc — bd > 0 ; bc > bd 2)
. ac > bd. ‘

o girswnp |

Biss
3 1
(a) 2(1_2x)+x<3(]+X)—7 (b)zx—3>5+x

2(1 -2x)+x<3(l+x)-7 BmUSBUPD 4 S0 QUBHBS

2—-4x+x< 3+3x-7 3x-12>2+4x
2-3x<3x-4 Ix-4x>2+12
—-6x-< -6 -x > 14
x> -1 x < -14
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© x-1<3x+1<x+5 (x-6) (x+1)<0

E=(x-6) (x+1) ' S
-1<3 i 2 I < :
x <3x + x + x+5 E=0 asiet x=-1,6 1 6
x-3x<1 +1 3x - x <5 -1
-2x < 2 ’2x <4 x<-} aaien £>0
x=-1 sigfenn £E=0
x> —1 x< 2
-1<x<6 asla E<0
-l< x <2 x=6 aefiat E=0 -1<x <6
. x>6 aaias £>0
2 _Figemnd 2
desiueptd Fweledset HmuHILGSHHID X Bt QUUIDTEIEIEMENS &S5, () x (2x + l) (x - 3) 20
@ (2x+3)(x-1)=0 k) x*-5x<6 E =x (2x + 1) (x - 3) aais. :
© x(2x+1)(x-3)=20 ' ‘ 1 __H | o
E=0acien X = ——,0,3 o 3 4

@ (x-1)(x-2)<(x-2)(x-3) <20 2 oy
, . . ‘

. (@) (2x+ 3) (x—' 1) > 0 x <'5 aefer E<0

E=(x+3)(x—1) o,

1
' x == eadiai E=0
3 ' 2
E=0 aefer, x= —‘—2,1 | | |
| .—%I o |1 ——5<x<0 aafai E>0
x< - ¥ adfe E>0 x =0 aeler E=0
x= - % acfler E=0 : 0<x <3 eaiai E<O ameﬁr’rm—%SxSO; x2 3
—%<x<l aeflar £E<0 xS—%aa'mgle x=3 eaia E=0
‘ ' x>3 eadlai E>0
cx =1 eafa E=0
£ 51wk E>0 @ (x-1)(x-2)<(x -2)(x-3)<20
“ (x—l)(x—2)<(x—2)(x—3)
(b) x* -5x<6 (x-)(x-2)-(x -2)(x-3) <0
2
¥-5x-6<0 x-2)[x-1)-(x-3)]<0
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2(x-2)<0
x<2 - ¢)) -1

(x-2)(x - 3) 20
x2-5x-14<0
(x-7) (x+2)<0 2 7
2<x T —m—(2)

(1), (2) gdppe, —2< x <2

2 Sryewnd 3

Beeumpw swaiefsa AufiuGiHad x S QUDIOTRTEIEETE SIS,

2x — 5 3 - 4x x =1 x —2
i s <2 sse >
1. x <0 ii. 2— x “l‘x_ > —
2 -1 (x-5
x* +8 (x-1( )
iv. >9 ., —3< <3
v x v (x - 3)
® 220
x

2
eemBeu x(2x—5)<0,[ x x* < 0; x2>0]

<3
0<x </2
3- 4x
(ii) 7~ <2
- 4 _
oA g, 1o 50 (v 22)
2-x 2 - x
3-"4x - 2(2- x) <0
2—- x
144

-1

(+2x) 0
2 - x

1+ 2x <0

BBUBSUPLD (x - 2)2 24,60 QUEHES,

(1+2x)(x=-2)< 0

—%Sx<2 (x# 2

=1 x250 @29
x-2 x-3
2
(x-Dx-3)-(x - 2) >0
[CEDICEE)
-1
>0
(x = 2) (x - 3)
(x-2)(x-3)<0
2<x<3 © (x#2,3)
2
v 3.9
x
2 2
x“+ 8 9’x +8_9 0
x x



3 — >0 (x = 0)

x(x-1) (x-8) > 0

I
_ <(x—l)(x—5)_
3< (x—3) x#3
0<3+(x—1)(x—5)
(x - 3)
(= 1) (=3 + 3 (x-3)
x-3) - 20
x2—3x—4
k-3 =°
(x—4)(x+1)
(x-3)
(x—3) (x—4)(x+1) S .
(x_3)2 = (x3)

SL0<x<l;x>8

446

(A)

(x-1) (x-5)
G-
(x =1 (x—5)
(x_3) -3<0
(x =1) (x=5)-3(x - 3)
(- 3) <
x2—9x+l4<
(x-3) =
-D-7)
-3
(x-2)(x-7)(x-3)<0
x<2; 3<x<7 (B)
r Q > (A)
-1 o 3 4

A
c

(A), (B) @reimLwyp HoUHIuGHED X Be QUDIOTEIBISET.
-1<x<2; 4< x <7

o _Fryewatd 4
a, b, ¢ e GuouiGweise sefier,

i. a?+b® > 2ab
2

ii. a2 +b% +c% >ab + be +ca

iii. (02 + b2) (614 +b4) > (a3 + b3)2 et Bpieys.

147



(a-8Y=0
a® — 2ab + 220

a® + b > 2ab

a’ +b% > 2ab Q)
b’ +c? > 2bc 7))
3+ a’> 2ca 3)

2(a2+ b + cz) 22 (ab + bc +ca)

2
a®+ b2 +c*>ab+be+ ca
V]
2

a + b+

—ab - bc —ca

=.;. [@-87+ - + (- a|> 0

2

nat +b v+ ¢t > ab+ be +ca

(a2+ bz) (a4 + b‘) - (a3 + b3)2

= a4 azb“+a4b2+b6—-a6 - 24383 - p°

=a® b+ a* b2 - 2a° b3
= a*bh? (bz - 2ab + az)
=a*h? (a -—b)22 0

(a2 + b2) (a4 + b")z (03 +b3)2

148

9_SHIjerad 5

a, b, c, d agiuen CrQysusamruimas,

a+ b
2

a+b+c+d

>4 \/(_1; ek ST ([Hk.

. — > (abcd) " aend ST (5.

4

a+b +c

d = ——— gauinyyHhui G

3

a+b+c
3

a, b, c,d>0

sTanGeu \/E , \/b_ sigiiues @UulwIneieney

(Va - B) 20

1/
- > (abc)’3 aen o uigsidis.

a+b2 [ah

2

1)

B aamiseier (GhT) salLed @t > QUEHESED BenL.

X+ y

> Jxy (x, y, >0)

c+d

a+b +c+d S (a+b
4 - 2

a+b+c+d

I

> (abcd) Ya_

2

)2 Vab - Jed

05
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Brsiig aevimafal st 60 oL > QUmHESHD BenL

1
a)@m¢1=§(a+b+-d areniniyAusL
‘ b a+b+c .
a+btcH 3 ' (a+b +c)4
> (abe)'s __)
4 o 3

A
a+b+c 5 (abc)-!'i* (a+ I; + c):4

iy aissian a6 GmL > QUHESD ReoL..

2 FHuycwrid 6
B0 wipld Guuiasisaila gl BGEOSTME Qm wiMsd  aaflsar, S

FwamuiGbaED CuUIBs, Skuiien QuHSED 2 WiTauTs BmMBEGID s S (Hs.

BHOBHEHT Sievengy GamieigioresGanm

(u—3+—LJ(7+3 1) i B ‘
X 242 x ) Qs 18&a58mIgw1 CUIDTEISMSE ST,

SIGRIEEN X, Y 61,
x +y = k wihed
xy =x(k - x)

-x% 4 kx

1

|
~—
=

|
N |
N——r

N
+
~~
(SN
\—-/[q

k
X = 2 Sp&. XV @er 2 wite] QuDULBLD.

k 2
Xy @1 2 wiiey = (‘)

2
k k ) o
X = 5 eicfies, VY = 5 SX =Y oo Gurgy o wie GQuio.
1 2 1
a=11--3+—7 b=17+ = - —
x  2x x 2x
a+b =18

» 18
ab @ o witeys Qumuonend e} = 81
9_SHTyesnD 7
U, v, Weaeaiuen CGrgnasad, ¥+ v+ w = | sysaud Sminle

8 uvw < (1-u) (1- v) (1-w)< % S

i

l-u=v+w>20 l—v =w + u> 0

l—-w=u+v >0

(l—u) (l—v) (l—w) =(v+w)(w+u) (u +v)

’2 vw - 2Jywu - 2Juv

>
=8 uvw
aaGo 8 uvw < (1—u) (1 —v) (1 —w) ¢))

a+b+c b
I —u,1-v,1- wgaGausmid Gryraieme: '—_3‘— 2 (abc)

3

(=) (1= v)(1-w) S[(li—u) + (1 = v)+ (1- w)]
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3

M-« 1 -v)(Q-w< |:3—(u+v+w):|

(-9 09 0-w (2] _

1), ) edoby,
Buvw < (1-u) (1-v) (1

2 gujycsend 8
i. a,b esuen GrLyeIsMTEOND
1 1
02 + bz + > + 3 2
a b

ii. a,b esue CrG@yeHissnTUIET,

8
27

a+b=4 seepp @il

7 R
— 6l ST (H5.

b f
a+ 2—- >\a* + b SImEBSNL_(H.

a
a+b
@ ab>0. > > Jab > 0
a+b=4. 0< vab <2
0 <ab < 4
) *l'(;'z
a+b® =(a+b) - 2ab = 16 — 2ab

=16 + (- 2ab) [-ab > - 4]

> 8

L1 _a+b 8 1 la2ss2850
=t 3 3 52 e 5| 1
a b a b° 16 215 ,216>0
2 52
az+b2+iz+'%28+l
a b 2
152

1 17
2 2
a + b +—2+"'2— Z‘;‘
a b 2
() «, b, >0
b Yy
a + - v oif +
2a '
b
x=a+_— >0
2a
y=\]a2+b>0
2
b
2 2 2
x° - =t{ta + — —a+b\
Y ( 20) (
2
=az+b+b—2—az—b
4a
2
4a
x2—y2>0

(x—y) (x+y)>0
x>0,y >0 aaGeu x+ y >0

238u x —y >0

wi® (Modulus)

X @ GuuiGuisuesrulmbss,
le = x ; x 2 0 aaier
=-x; x <0 asflen
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o grgemd:  |2| = 2

-2 == (-9 = 2

2 SH1ysend 9

|2x + 1] = 3 aefiar x mé srems.
|2x +1] =3
2x +1 =3 SV
2x =3-1
x =1

o grysup 10

x? =5|x| + 6 =0 s iss
x 20 eafer |x|=x
2 -5x+6=0
(x-2)(x-3)=0
x=2,3

2x + 1= -3
2x = =3-1
x ==2
x <0 aalear Ix! = -X

2 —8x|+6=0
2 +5x+6 =0
(x+2)(x+3)=0
x=-2,-3

aaGeu, iaymer -2, -3, 2, 3

o _gugysoond 11
giss x* +|x| -6 =0
x 20 e
XX +]x|-6=0
x> +x-6=0
(x+3) (x - 2)= 0
x = -3, 2

x2 OaeBeu x = 2

g4

x < 0 eefe
2 +|x|-6=0

xz—x—6=,0

(=3 (r+ 2= 0

x=3-2
X<0; aqanGeu x = -2
Sieysein -2, 2

o _Hryewonp 12

Bii . x2+5|xl+6=0 x < 0 asfla

X2 0 aafer x* +5)x|+6 =0

2

X+ 5x+6=0 ‘ x2—5x+6=0
(x+2)(x+3)=0 (x—2)(x—~3)=0
x:——2,~3 x=2,3

x > 0 sugeomed —2, —3 GuTBBETS x < 0 suzeomed 2,3 GurEBaTE
~ FwSUT LD dETa B,

2 _siysmnp 13
giss i [3x— S|>-2 i [3x — § > 2

i aeer Guu x @hewn |3x - 5|20 ; symeomed
seder x @@ [3x — 5|2 2
ii. [3x - 5|>2
sisben X @igw [3x ~ 5[ 20
[3x = 5| > 2 asudsd swaieduis BoussnsEnh ChyTatamey.
. [a>5>0 aafar 42 > b2 yE0.]
(3x - 5)* > 22
(Bx-57 - 225 ¢

(3x - 7) 3x - 3) >0

x <1 sisdevgy x>§
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wpenp II

13x - 5| > 2

Cx 2

aafled, [3x —5| = 3x = 5

[FSRRV.]

3x-5>2
3x >7

7
x> - x>
3

W |~

5
X < = erafled,

3
13x - 5|>2; —(3x =5) > 2
‘ -3x>-3

|3x - 5| = - (3x - 5)

x<1 o %

Biey : x <1 sievegi x>§

Ix] < a asis.

a<0 eefiled @FFwaled QUIBBSTH

a>0 eaeafed, x = 0eafed lx{ =x<a

x < 0 eaefile0 |x|=—x$a

(1)

x2-a —1—(2)

(1), 2) @dppBa —a <x< a xwEw.

a1emGeu ix|$a(a>0) aafied —a@ < x £ a oELd.

_SHTFETD :- |x — 2| < 4aafied,
4 <x-2< 4

-2 <x <65
156

|x|>a aes (a > 0)

x > 0 e, h|=x>a
x<()awm|x|=—x
-x>a
x<-—-a

X< - asweg X >a syGw.
o gryesmnp 14

i[2x -9 <x-1

iil. |5-x>2+2x

i. |2x—5|<x—-1 o 7 4
2
5 _
X 2 = aefied [2x -5 =2x -5
|2x—5| <x -1
2x -5 < x -1
x < 4
.'.%5x<4 (A)
5 _ ‘
x < 2 160, |2x - 5|= -—(2x—5)
|2x —5[<x—1

—(2x —5)<x—l

6 < 3x o)

2< x

2<x<% (B)
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(A), B) @iy 2 < x < 4
G) [5-x|>2+2x
x <S5 aalld |5-x|=5-x

[5—x|>2+2x

5v—x>2 + 2x

5-2>2x+x
3> 3x

1> x Sox<]

x> 3 ade, |5-x|>2+ 2x
-(5-x)>2 +2x
-5-2>x

x< -7
Brig Hiey @sveneo : Ao

Cogtey x <1 ay@.

i

o FHIJswnn 15
$iss. i |3x+ 2|>|2x—3|
ii. .|l—5x|<|3—4x|

o
=
+

2| > |2x - 3|

W
=
+

: 2', |2x- 3] 2 0 suseomen.
(3x +2)* > (2x - 3)°

(3x + 2)° - (2x - 3 > 0

(5% - 1

X

) (x+5) >0

X < -5 sisdevg x>l

158

ii. |1 - 5x| < |3 - 4x|

]l—Sx

3- 4x[ » 2 0 syzevmed,

b

(1-5x)° -(3-4x)’ <0
(1—5x—3+4x) (1 - 5x +3-4x)<0

(-2 -x) (4-9x) <0 .
(x+2) (9x-4) <o

—2<x<i
9

®_styennd 16

Fiss: |x— 4 + 2x -1 > 4

1
x<5 aaflar |x—4|+|2x—1|>4
f(x—4)—(2x—1) > 4.
-3x > -1
1
X< =
3
45060, X < —
1
-Z—Sx<4 aallan

556 1 < x < 4

159

(A)

(B)



x 24 aefld x—-4+2x-1>4
3x> 9

x>3 oreGey x > 4 ©)

(A), (B), (C) sausupmedmmbs x < g sz x> 1

® _FHuyesnp 17

Ueiteumeustoudiiein auenTLSMm6T eUen]s.
i y=x vzl ii. y=2x-5 y=2x-
fii. y=3-4x, y=|3—4x|

iv. y=x2—5x+ 4, y = x2——5x+4|

O | y
A A
/s ‘ y=H
3
» X » X
x20 aaler y=x
x < Oeelilet y=-x
ii N
(ii) y y
p s 4
/,\? | y=2x-5
%/ (0,5) -
Y > X
% » X %

160

(iii) y | ya
s \

\Q” 0,3)
. e - X

x<3, aeflen y =3 - 4x
x>% aafear y=-(3 - 4x)

iv) y=x2—5x+4

A

| \\ ' Ay
(0,4)_\ : (0. 4) v\\
NI T

‘y:lx2~5x+4’

>X

"V

[y = f(x) asim susmenuiulen, x oisfleir fip 2 aenLigd X SiEfed OaBLDLES
o_eieneuTm Y = ! f (x)| aaim eusmenul. AmEGLD]

o giyeswnn 18

98y Smmaicd y =[x — 1

, ¥y =3|x -5 asueiisn aopuseen suenyis

lx - l| >3 |x - 5| SLGWTMIeTen X Bt QuETTRIGTET GHTenL enwid
SHTEH. ‘
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y=|x -1
x<1 aeflar y = —(x-1)=1-x

x21 aaflen y = x —1

y = 3|x = 5| , ¢*4
x <5 adla, y = 3|x - 5] N
--3(x-5) O
=15 - 3x (1,0) (5,0 (7.0)

X 25 ada, y=3‘x-—5|
=-3(x-5)
=3x-15 ,‘

x >S5 adfler, y=lx—1|=x‘—l‘

y=3|x—5|=3(x—5)

BmouemenulsEnd FhHeEGw Leatefuied,
x-1=3(x-5)

x=17
1<x <§ adfa, y=|x—1|=x—1

y=3x-5]=-3(x-5)
Bmeusmenuisend FHHBGW YeTefuled
-3(x - 5)

x=4

x -1

oGy 4 < x < 7 aetip eJFdled

x = 1]>3x - 5| ayob.
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s 4
1. Usiapid swefedsenard BTHe
(@ 3(6x - 5) -10(x—-4)=23(x-1)
(b) 2(x-3) -35x-2)<6 (3 - 2x)

1 1
(c) E(x—Z)—E(3x—l)>2 d x-1<3x+1<x +5

€ 3x +2=22x-192w ITx+3<5x+2 2
2. dsiaumid swafdsameand STHe
i (x=2) (x-1) >0 vii. xilx <6

2x = Y(x+1) <0 viii. x2 - 2x+ 5 >0

(
iii. (2 - x) (2x +3) 20 - ix. 12 - 4x < x?
iv. (x—1)2>9k x. -x}-4x-3<0
v. (x-D)(x+2)<4 Xi. 2x%2 —1lx +12 <0
vii x? > 3x xii. 3x2 > x -1
3. e

o (r-D)(x+2)(x-3)>0 . 2x-1<x? —4<12

iii. x -4 <x(x-4)<5 iv. x -3>x2-9>-5

V. 3x+4<x>-6x<9-2x

4. vstaupd swafalsel FHUFUILUGSHID X Bt SlLPIDTEN
alFabHamaTd HTANSD? '

1 3x + 4 ' 4 - 2x
. <=1 s ess
i 3 i, — <1 i P 1
2x - 4 x — 2 x -1
. <3 ¢ —— i
iv. 7] V. . <l vie 5
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S.

iii.

ix.

Xi.

Ueraumb sFwefadsed SHGUPILGSHID X S AupoTen
alFaboHamnd HTRIH.

12 x b
< x+1. ii. <
x -3 x =2 x -1
x=2 (x-1)(x - 2)
>0 iv. 0
(x-1(x - 3 i) (-3 ©
2 2
x+12>7‘ vii © +6>5
X X .
oD+ xr6 gy, -6 2
x 3 (x = 1) (x - 3)

L EeDE-9)

x-3

5 — 4 1 1 5
X. 3 > — +
x+ 2 21x-2 x + 2

2x2 4 5x + 7 252 - 3x -5 1
— 22 Xii. 3 Y
3x + 5 X +2x + 6 2
x @er al Gupuotemsense 0 < X " < 2
x—

1 1 1
- < — SGUrmeTeT X @& GUEIOTERIS6TS
x+ 1 x+ 2 x
STES.
2 > - 1 > 0 eaeflar X mé sTaws.
+ 1
2
< x < mdb Pés.
x — 1 x - 2
X +a a .
> L. a, B Breaywng?

ii. a< b<0 aalen x @ Hiey wrgy?
12a girey wirgy

11. a, b, c asgiuen QuUCWeEIsMTES BMEs, siumHaISTIDOD Binieys.

12.

13.

i a®+ b2 > 2ab ii. 2(a® + b*) 2 (a + b)’
iii. (02 + b? + 02) 2bc + ca+ ab

iv. 3.(a2+b2+c2)—(a+b+c)220

V. @b +abd< a®+ b

. (a+b+ c)z - a + b+
e 3 - 3

vii. (@ + b+ c)2 > 3(ab + bc + ca)

2
viii. (a“+b4 +c4) >a?b? + b2 + ?a? > abe (a+b+c)

4o
7

a>0 seusad X,y aaiuan gwownm GHT DO WD BHenp
amsemaam @oitar ¢ + a” ; a® Y + aF T Y acigh
Ganeneuseiicd Guiiwigy wirgy? '

il. x,y Qa1 acems QuTEEEEEGD x> + xy + y° > 0

amsEr. (5. (x + y) (x3 + y3) < 2(x4 + y4) ael 2 _UiSsis.

1
i.  p CuuiGumienrs Bmes. P(l - P) < n TNEETL S,
BPAmHECHT Sivevgy CoaupenfumsBanr p +q = 1 gyaap

1
0<p<l gaap Bmniar +;@ai|@[£\\m]0|.mtmmbuma?

-

|
ii. b<c<1 adlar b(l—C)SZ aeoD Higes.

165



14.

15.

16.

17.

18.

i O<x<l, O0<y <] aaflat O<x +y - xy <1 aamé &1 Gs.

y x
il.ha < x <  a> b erefiet <
i y 2 a>0ek y-a x-a

X,y eeiuen GCpiaawisen aafar x*+ y4 > % y + xy3 2 2x2y2

aRNs ETL_ (5.

a, b, c e@uen Guiaaisen eefia

2(a3 + b3) > (a2 + bz)(a + b)

3(_a3 +b + c3) > (a2 + b2 + cz) (@+ b + c)ams an@s.

a, b,c,d asiuen CrQyemiaen el
i a+ b2 2Jab ii.(a+b)(b+c)(c+a)28abc
ili. (ab + cd) (ac + bd) > 4abcd
iv. ab? + ac? +bc? + ba? + ca® + chb® > 6abc
v. (a+b)(—l—+1)24
a b

1 1 1 1
i +b+ df—+-+—-+—-1216
vi. (a Cf )(a b ¢ d)

a+b b+c c+a
vii. + + =26
c a b

vili. (a+ b+ c)(a® +b* +c?) 2 9abe

ix. (a2 + b2) (a7+b7) b2 (a4 +b4) (a5 + bs) aen Bmags.

x+y —-3z= 0 aaiea x2+y2 -32>0 sTanRlpias.

166

sland BT (Hd.

19.

20.

21.

22.

23.

x+y+z=a, xy+ yz+zx =0,a>0 eaalai x,y, 2

1
@suGeuTeEImLD —5 a @En@w d BneWenLulsd HLEG aaIsSTL(HS.
i.. x Quuwewesiars Bmaes, X3 —2x2 + 8> 4x SLGD. X @it
Has Geonhs QumuoTend wrg?

+l+ l)) 9 - .
b )~ 616018 &BT_(H&%.

(1-a)(1-5)(1-¢)

abc

1
ii. g b, ¢> 0 e (a+ b+ C) (;

a+b+c=1 s6b6urg

DB GHODHS GUIIOTETHENHD SIS,

x, ¥ z>0 asfear, 1. (x+y+z)3 > 27 xyz el

il. Gogd xyz =8 aafleal xy + yz + zx 2 12 asapd am Gs.
a, b>0 aefsin

2 2
1 1 25
i. a+b=ladler [+ —| + b+ | 2 — gasan@s.
a b 2

b 5 b |
ii. Ao > a" +b >a+ = @ 2a +1> b) ams

1 1 8
= (a + b)z asis ST (Ha.

ad+p+ 3 —3abc = (a+ b + ¢)
[az + b2 +c? —ab - be —ca] AMBETL (B,

ab,c Gemnae @wuda a® + b3 + ¢ > 3abe een o uisshs. [ mn

167



24,

25.

26.

28.

1
e sTenauBuiaitd apam ChisTeisenuIes 3 (I + m+ n) = 3Jimn

aen @HeOmpbaHl ez Caumiipenmulsd ST (H.

om GsmGaian Homavusyuujamea aigousHdled o sien  APRPWRKNTH
Gui_iguliest Bemd, SB6VD, £_WYD Spwer (WemmBWw X, ¥, Z DISOGHBEMTELD.
SLGU U6 Guopuyiadss ugiueay A SEVGSEHD Saleuee] V HwoEoenmd
DLEGHD. DIBHE BTG PV L b6l @eiaTeaNIeE B P SIENGSEHD
SbSLD-

3
2 p3

() A< 2p? aaep (i) V < :Wam.m i) V < v

eleiayLd Bipi6ys.
irésam:

i jx+30=2 @i ool T ik x? -|x|-6=0
Saeumd Fwalelsal HHUAILGHEHID X Qa1 Gumionen elFsssmns
E: A 07 Y ‘
i|x-3|>4

i [x + 2] <1 iii. [2x +5/=23

iv. [3-4x]<3  wv|x+1]|>1

f(x) =x* —x -2 adfler, f(x) < lf(x)l SuGwImsiTen X B

GUMILOT RIS 6TTE: BTG,

i |2+ x| >]1 +2x| ii. |5 -x|<|1+

iii. |3 — 2x| <[4 + x| iv. |x—1|>3x-2]

i. |x - 2| <2x auswrmeion X S QUDIOTEIRISMENS HTEHIS.

ii. x? < Ix - 2|q,@mnm|sﬁm X B QUDITRTREMETS SHTRIS.

<1

S, X @ar QUDIDTETEIBMENS HTERIS.
168

29.

30.

31.

32.

33.

34.

() x -3

< 2 et X @6l QUEIOTRIBIG®TE &IOS,

: 2x +3 2x + 3

(b) s i 7| <! i, ——— <1

I2x + 3| - ix+ 4] < 2 aefle x @it QUUIDTATEIGMENS BT6wIS.
a+ b

> Jab send & 6s.

a, b, ¢ esuen GryrenanaGucic

a+b+c+d

1
Bdmha > (abca’)/4 aRLmB GuyIs.

(a+ 3b) (b + 3¢) (c + 3a) = 64abc asums o WssHE.

a, b egwen Geymuiar (1-a)(1 —b)>1—-a-b aadpeys.

a, b, ¢ esuen Geymsauh SeuppeT gaEpraug | Baid Gonarsaud
@oudsr, (1-a) (1-b)(1-c)>1-a-b-c aam Bpeays.

i x+y<2, x-—y<4, 2x+ y>2 sew.
0<x < 3 aesan’y y @6 955 swaled gaiemnl Guys.

ii. x,y @& srebeonl QuuoTETEIEEHSGD x2 + y2 - 4x 26y — 13

s ST (Hb.
A, B @&t e16060m0 QUDIOT QTEISE ETHE G51D
. . .2 1
sinA sin B < sin 3 (4 + B) aenfyeys.

A4, B, C, D asooomb 0 @@ 1 @bew Qe ulsd Sminde
1 4
‘sin A-sin B-sin C-sin D < {sin Z (A + B+ C + D)}

sl ST (HS.

169



35.

D = (4 + B + C) eas SguiBeupei cpeotd

)| —

1.
3
sin A- sin B - sin C < sin {% (4+ B + C)} aer 2 wigg .

3, 3\ 2, 2)
. Xy X +y
X, y, z ea@iuen CuymenensuGuiesie, [ J > [ ]

2
3 > 2x% + 2
3

gLl HAuilpeuseat apeold Dievevg  CeumianPuins,

2x% + y
sTeataytd, 3

J sioyd STLHS.

2

x +y2=2w2

X, y, z ewetiuen Gpymulest , 2.

2 3
x3 + y3 + 23 S xz + y2 + 22
3 = 3 61601 BmInys.

3.

170

@

(i)

(@

(i)

@

S, +a-S,

P 60 uuipas 1
a, B e x2 +ax+b=0 eaadimw GuuypFswaurigper
WOmEST QG @EG a wb b uph gmeniose.
So =2 sizamw, S, o™+ B",

1+b-S, ,=0 - GG TRBBN (H5.

8PSwia a, b @a o pisselss o + B° gupp %15 » /BS
SISILIDEND (LPEVBIBENT SHOHL_ULI @@uq&&m@ml'_'amm SABHD.
n>2 asiug gaien Cridenae ada, x" +2 acus, x> — |
2460 auGSSIHOCUTGY GupiuB BH x +2 guaw Gl;ui.&m'_@&.
(1982)

x—-p
x @e QuuiiGupioneamsese O <p <1 aala 2 _2x+ p
(50" 1] &mn.| S160e0T GUEOTETEIBEETULED QEBTeIeN (PIQULD CTIBEHTL 5.
2 108 elentepus P = % SHGWELTS 9T IMTUTED alend:gs.

2 +1 aed AUGULEIapW DT (x—l)2 (x-l-‘l) 5,680

axgEGweurg —10x + 6 ® BHunas Fyasagu X Senen KoLy
Guou O MQWIT TS STeiss.

(1983)
x+y+z=0
ax+bptcz=0

x4y +z3=3(b—c)(c—a)(a—b) QN DIDDULED CuHEID
X, ¥,z eigiuen Guounoniisei eiefle, Guout a, b,c @ng a# b+ ¢

x y z

slet DienwGioeaic b—c= =

=1

SARBBTL (HS.

[6-) +(c~ )} +(a -0y _3(b c)(c a)(a - b)
SIRLSLT LAUGSIIB S5 60D, ;1



(i)

4. (i)

6. (i)

f(x)= PJC4 +qx3 +rx? +sx+t wew. f(x) agug

(xz + a) e agssiulLTed B8 (s —ga)x + pa’ —ra+t
aRBHTL(Ha.

a,ev-a 26 f(x) =0 asiuga pomsar aeflei,
ps’ —qrs+ g’ 1t =0 agwb Qgm iieu p,q,7, 5,1 Hoi. HBusED
. (1984)
x2+px+l sITUG axs-:bx2+c aausel sy el

(@ - )

@ipubsmar Hpikh QeUILIOU LT x2 + px+1 eaa@ug

- (:2 + bc) = az b2 CTIBMaS.

cx’ + bx3 + a eeuseE gm syalLTGD amap ST HS.
(1985)

@1 BupsF FIDEIUTL gt wpensefidl  sal (HEH0HTMS, QumssIDd

SpAwaHETET CHTENEISHMEN DB GmsmIselled QuLigs.

o, asuen,. x? +px+1=0 acignd sweLTC e APSOBIHEIT
(; syl o +A, B+ A aEUIDED APEBIEITES Garenn_ SmugsF

SDEIUTL®LE &IeHs. Sng A @7 ShobuIGL. Cuend ¥, b

e x2 +gx+1=0 egnd sweT ge apetsel aaln

(e +7) ([3+'y)((x+25)(ﬁ—8)=q2 - p? sEeewe gﬂry::sn

Bouys Fweaun(d Qale @pmm&mﬂm sl (55 QBTMEHEGID,
QuEBESSHNGY 2 ful CETMUBMET B Gomsnseie Friled

QU (a+x)(b+x)——c(a+x)—d(b+x)—0 @eit apeomiset

o, P eefer, (a —B)2 =(a-b +c—d)2 +4cd amESTHS.

a,b,c,d ssfuen Guinnsapp c,d sy BrasiBn Crynsapd
owonog wepunsap @ik o, B syfue Qs G

2 L. 172

(i) a>0 asaw, b> <dac asadoids ax? + bx + ¢ asigub

7. (i)

(i)

(i)

8. ()

(i)

Gareneauuneig x @eit Guouil Qu_rgjwnsmrm&,m wireudmitE b Grymeng,
0% W 3 (WY
2 ., .
(x -x— 2)(x +x+ 1)(x—3) stemad Gareneu GBITE EmEED
x Saen w Quuuotemiselss eSFengs e,
(1988)

Bw Gpiaenssaial sal el wreng ieiGeusmissis Qups
sedentulgnd Quilwg Diedevg) QuUEESIMLEGEF S aMGET. HS.

83llpr s s Capealswrs
+1
2 -r)(+ ) aen Hpes.

wrsmuigid goBepeuan 721 @i (n+1)" 22" n! asuos
2_Uighg k.

n>r>0 an G

acx? —b (c + a)x + (c + a)2 =0 s@ud swELT s apeorsene,
ax® +bx +c=0 agib swauT g aporsar o, B e sminded
aboamIEs. @RG a,b, c oyfwen wredssi.

x2+9x 20
2 11x+30

B w Qupuontemisaia elfemad STemis.

2-1 eadigud swelled o auiemwwrs Bmecn X

(1989)
(¥ ~ k) awiugs f(x) =22 + 3k —4) x>+ (242 =5k -5) 22
+ (21:3 ~2k% =3k - 6) x + 6 @i auppBuTE Brisd siss
k @& QuuuoreTisemens &Tems.

k @&t @aiGang Qur‘mwnmg,ﬂm@w CrQrTeEs f(x) @« agfu
SNy FBDNS SIS,

x2+y2+zz—yz—zx—-xy=

{02 + =2 + (e )}

N | s

SIDSBHTL (5. 173



x=b+c—-a, y=c+a-b, z=a+b-c adie

x3 +y3 +23 -3xyz=4(a3 +b3 +c3 -—3abC) SIILIN G

STL(H5.

: [x3+y3+22—3xy25(x+y+z)(x2 +y? +~22—xy—yz+zX)

GRUMBL LWITL(HSHS 50MD. ] (1989)

9. (i) pgeasuen x? +2kx+k+2=0 el&igbd FWHLTLIGEN (LPEVELBEH.

(ii)

10. (i)

(ii)

gmig k gm wred.

@ (p-9) =4 (K - k -2) aesanGs. adoss weonse

4 o160 elldHumsiLEIDLIR 2_eiten FoaUTHSmeT GMHSTULLL. sugealsd
DS

2 2

9

(b) k = -2 eaanggylige ‘;]" mub | @m;ﬁl&mn&&.

p
QBTEIL. FOGTUTL ML DIEDIDHS.
2 2
1+ — QU 1+ ;‘ LD (LPEVBIGSIITS 2D W FSILTL MHLUD
SIS,
(x +2) (3x - 1)
4x3 —3x +1

X a1 QuuuoTenmisaial alFenss HTaHIS.

20 aaigud swelsd 2 _avenowTs EMmiLSHERL

(1990)
a, b, ¢ syfwen QuUIGWsTEeT aefer

(az+b2)x2+2(a2+b2+c2)x+b2+c2=0 s1eTEniLd

FLOSIUTLIQET (LPEVMEISET GLoWwTeiensy eTen BImiays.

ax’ +bx+c=0; a' x% + bl x + ¢! = 0 eeignbd swaGssien
p2 Bl
peomseiian eldsmss FGeile P =0 SenssT (.
ac

174

(iil) Sewumd swaled aedsnTes BmeEd X BT GUIIOTEIRIE®ENTS HT6HIH.

11. (i)

(i)

(©

12. ()

(i) f(x) aaignp sriutengy S (x)= 2%
e +1

| 2 3
+ >
x+1 x+3 x+2

(1990 special)

x—4<x(x-4)<5 o5 @uEsw X @ GupoTEss
alFengd SHTDIS.
_ 1 x -x 1 x -x .
y—~2—(e — e )+5n(e + e )%@w;
@mig n gmorfsd n > 2

X

t =¢* e LB Si6bevg Coumieizons

() y We @PfeuGumITeDd ,/nz —1 aEsT.(Bs.

() k> ,,nz — 1 e, swaur® y=k opeig,  uine Bm Quui

pevmIBEMETE QBT HEHGHOWMES ST, BID APORIBENS HTANS.

k=.2n (n +1) &% Bmesewiurs Guwlsn GPUILL &

2n

apsvrissefignd Guiugy |+~ e Sfluapeosemsd s,

Gl @AM L shaiiusded n (22) Qe Qum;mnémb e135IGeuefiguid,

swaun®G ¥y =k ;6 HnuHunrigd X Ba BmOuulliGuIIOTaIsEDLD
2

siGurgp N (f - 1) e In (ﬁ + 1) B HenL B Bmaed

aSIIDS 8 UIHHNS.
(1991)

[2x + 5] - |x + 6 <2 o5 Bosew x Be GuUIGUYLTTEESSET
GFHTEOLNWIE SHTRIS.

e2X _ 1

STRTLISHT 6O

aueTWINIEELILIL (BeTTeng|.
175



13. (i)
, (a2

(i)

(iii)

14. ()

(a) asveon x B | f(x) <1 e

i (1+ x)
(b) x=f(y) aeflan, ¥ = 5 In 1 x oD STLHs.

1 (1 + x)
o85Csr6, V= f(x), y= ‘2‘ In “‘1‘_-;‘ e iaummiet

aumTSsT gerenuirainy o mughHuled QeTHEsimer aaapd
ST (Hs.
(1991 special)

a, b eswen GuoUIGWeTseT sTefer,
2 2 2 2, 52 2
+b) + (b2 +a) <(a +b% + 1) P

x2+2x+3

x Guouwurs BmsEs SaHiuS @B® Bleveowlmen

X2 +3x+2

Quuior eI EheSHmL Gwitjeiten QUEITAIGHMmSES QETaRNgHhHES
I LG eiensd ST (H.
S=3x* ~28x +60 aeeys, §'=5x —32x+56 amap

@oulder ps—gs' esug r(x-o) e agusHGe

Bmuusmeves g B GUEILTRTRIGNETES BHTHIGS.
B mHa Disveg Casmelsions
3x2 - 28x + 60=I(x — h)’ + m(x — k)* awmoyd
5x2 —32x + 56 =1' (x — B) + m' (x - k) sumapp Boivsie
I, m, Il, ml, h, k s8uaDEDS HTRIS.

(1991 special)
t =x+‘; G160 GIIDSIUSST (LPeVLD xt-sx348x2 —5x+1=0

SIGTEMILD FLORTUTLIQEH 66060 (LPSVUMISENENLD HTRWIS.
176

(i)

E=x*-4x+9x> —10x + 7 aeis. E agug y2 +y+a
AGigiD euigeled EIAPHILIL UMD aeNBSETL (Bo: @mIE d @ wiied
LEQD, YV s 2 +bx+c aSIgId angeuGhFeUHDd o_eeTTen.
@rg b, c syfuwen wnHedsamG. BHOmHH X @& eledeN
GuuiGumroTemBEnsEG £ 2 3 aassm (Gs.

1 k f(x)

(iii) (x ~2) (x ~ 1)3 = (x _ 2) + (x B 1)3 LG0Ty k adigd @m

15. (@)

(b)

©

16. (a)

wrifiedenupd, x Qe @@ sy f Mmupd s,
S m(x—1) 8 9B vomniurs aGSHHMmIHs.

BHemHH 3 86 uGHIIGIETEMNS BRI,

1
(x=2) (x-1)
(1992)

x, 720 Suimpés, x,y,A,p acigd Quuissaflumsel

l.‘.l:z’

Xy

Yy
x+y=A, ‘; =B aaigip GsrLiysefleamed

@eemssiul Geaenen. A, p asiuapin Sl Cuujeaier  @w®
QaLiienul Quidg, 1. Quouums SmiuEg A 66 GuproTeTEESsileT
QHTNLMUKb BT,
. . Yy .
8dScha A =3 as Boseblurs - 0 peis.
x,a,b>0 sysapp a>b sysapp x2 >ab ssap BuEGHEUTSH
x+ta  x+b

‘/x2 +a’ \/x2 +b?

|2x-1|<3x+5 o5 BoEGd X BeoLw GupRoTRIBISTE
(1992)

>0 aassr Gs.

QETELMULE STRS.
x2 +9x-20

2 b — > -1 -
—11x +30 20 sapd 2 L&D
x * ¢ x2 —11x + 30

177



oo x Q& Cupeonemsaia eliamssd SIS
M) a, b, c, p, q, r HE W & I

P q r¥a b c
—+-+-H—+—+2|>9 LT
( a b c) (p q r) SBBHM_(HS.

G, Qy efl i

(©) |5 - 3x, >2-3x s BHSGW X Gal Quunesissia elFass
P (1993)

x’ B o

. A
7. @ (x-a)(x- b) (x -~ ¢) DS k+(x—a) * (x-a) +(x~c)
sicnad anslled abisIanas; @, a, b, ¢ a160s0MD Gounl Corpranenes
k A B, C sfu wrifielsemeng Fienis. ‘
a=>b#c asigud asamwud DLITUIE.
a b c, d sy mﬁmlb Couy Gouprenenanuryt @ma@d Gurgy
3 b3 3

a

(a—b)(a—c)(a—d)+(b—c)(b—d)(b—a)+(c—d)(c—a)(c—b)

d3
Y @-a) @ b)(d—c) " s e i,

(b) gaufvremas sryelaai BrmioLs steiugel  apels
(@-x)"+(x-1)" ~(@-1)* g5 sedinGsms.
(1993)
18. @) x> ISx +6| s BHEGWD X Bl QUDTETEGENS & awIE.

® P+y +7 —31\:yz=(x+y+zz)[x2 +y +2 —xy-yz-zx]
SIS (5.
Bl s aemaCugw vopulder x, y z Bre
Prydil> 3xyz a2 Wisshs.
Cpgren p, g, r @i

@ 1(p+q+rl)>3pqr (i) l+1+12—9‘
3 - P q r p+qg+r
178

19. (a)

(b)

r
Gi) 2—+-1 .
q-+tr r+p Ptqg

v

3
5 SiEiLaDED o WigsMs.
(1994)

X +bx +c=0 aaignd FweEmga apeomissi a, B oG,

‘@ng b, ¢ Guiaraneney. a3~, [33 SIGICEDSND APEIEMESITESS CebTesin

Fwaun eni_ 11 Quys.

B —6b+9=0 symapd c =2 symepp Besiniei o, B ersnisd

QuuXGUIOTEIES NS ST6HIs. BPOmba y3—6y+9=0 B

' Quukipeodangd Smesis.
X 26 k o QuuiGuels aeer x B &1
2 2
(x+k) 4, , (x+2)
O<—— - <—(k* -k +1 ST g eiignd
2 +x+1 3( )m" > 4x4+1 "

20. (i)

(i)

cﬂmmmgmwwu&mmmmwﬁﬂu
Gupnorengengupd aGEG X Qe QUG eNd ST,
(1994)

7—x>2|x2—4| 5 BOEGD X B QUERDTETRIBNS SRS,

1
55 9m Cpi x B X + - 22 aeié s1lGs.
a, b, c esuen Cpi s CuopGurhs el LwEILESSH
1 1 1

b —+—-+-~-12>9 SETL (.
(a+ +c) (a+b+c) SIRIBEHTL_ (5B

atb+c=1 aafed (2—a), (2—b), (2—c) aaiuenas Cryreaianey
ANSHTL (5.

a 4 b + =5 >§ . .
2-a 2-b 2-¢ 5 TOUMS o uipsls.

(1995)
179



21. (i) x, y eeue GuoiuNEs BMmEs,

(ii)

22. (i)

(i)

23. (i)

1
232 +4xy+y* - 12x -8y +15=0 aafsd x syes ]_75‘

1
goew 1 + f Boaw @mLCw Hdbs PyuTEzaaw, Y JLa%

1 @dew 3 Qeifian Cu dh &6 WPeuTGgaa ST (He.

(a+b) acug x* - 3abx —(03 +b ) =0 aeiigyd sweLTC e
D APSVID LG CTEHILMS UNUINLLILITTSS.
a,b(a#b) eswen Guouinns Quindar GoHGuips SWEHLIG
SCIGUN® Guikpesmss CaTaighEGD aabmoys.
X —6x-6=0 agigd sweuT el GCuHCunhs eugahHed
aGSHMIHEE, DSHG CIAwnm Guouigpay o QLS
ST YMHEHS DIGHMEID BHTIH. _ C

(1995)
z2x susap a b x, z sfwen adeomd GryTseapd @MmEs,
x2y=az+bz3 aresilesn yZZﬁ o Bmias.
|3x —4| >2-5x o5 @G X Beaoiw  QUEIOT LISl
QETenLanusd HTRIs. (1996)
ax® +bx +c=0 acgud FIEUTL el apeomubaTTe oL, B eiaue
GuuinmukbiugsDaETE Blabgmet gains srans. a 0 aulknes
a, b, ¢ e GuunoreSsengid.

b c ,
a+pB= 2 aenapd (IB=; aaan) ST (55,

| 49ac - 12b*
osgne (4a —3p) (4B—3a)=——ac—2— aaiagd Sy
a
2 3 4
1262<49ac<49b adiiat B yeg Ta Bed —32 Siew
B Cu & GG adumG o uihSkE.
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(i)

24. (a)

(b)

©

25. (b)

P+ 0 asugn e p, g, r GuounoriieSsems Swmbs.

px4 +qx3+rx2 —qx+p=0 SIGIGILD &wdlunl;umg'y @60

@7 Bouys swaALTLITE @ESSULLEND amd ST.G6. BnE

1
y=x-— @fdcis x @usim Copedss sweun G

WEEmNS QETEiMUIUSNG P, ¢, r adues Hoid Qsunpd
BUBSM QSBInmE: HiTRISH. (1996)

1
Quuninen aedeon a, b Qe a’ +b? > 5 (a + b)2 aMSEI (55

GG Guibp (pyeul LLSTLGESE Dbz Caimipemuisd
a+b+x=1
a?+b? +x2=3
fgigid B FALTGEEHD, Quuuner g, b @ies BHmudi
uBSHBILLTS Quurunes x @i Guproras QETELWE HTeRIS.
I5x — 8/ <3x -2 o5 Auiep x @6 GupuTed GaTeL s
S,

xX—a
a, b aguen Cri wnfedsenta Bmés b>a adfed Y = 2 - b2
acigid Carensuwneig Quunturet X SNG ebs QuuuoT g mgGHupd
Qeretenieond aens &GS opsn &t a> b guimasend Guig y
Qa5 GPS5s @f oyuioLulh Hdew QumoTemser selinHs
absl QUIIDTEIGMmSWD QETeianenD s ST (H5.

(1997)

o, B ereinen x2 +gx+1=0 ocigad NoGUT 196 APOEIHENTBAD,
Y,8 e 24+ x +q =0 aSigid FWSIN YT APQEIBETHOPD
(e-v)(B-7) (a—8)(B-—8)=(y2 +qY +l)(82 +8g + l)
SIBHTL (5.
SILLLYBEGL BouYSFOSUTEGSH Qranbh GODES L 5D
Gurgy GQuouiapsogengGuigi QaTaigBUUSDHETE § Bl sTedevNLI

GupeoneABKEeeTULD Sienls. (1997)
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26. (i)

(ii)

27. (a)

(b)

'28. (a)

[x3 +y

Seiteuptd @snbeun(p swaledsEw sisamands Spid Gauid x e
Guuiores GHTELEDWE SHieis.

(a) 432 <x+3
B) |x +2| + |x —3' <7

y:x2—4x+3, x2+y2=4 Sy auenemuisaner @By euflil

BLSH6D LHDUQUITS CUENTHS ny2 —-4x+3, x +y2 <4 spdw
80 swdidsab AGIFILGSHD TCssHms Blonds &1 (Hs.

(b) “agivgiy Ppac” Yopowl LWETLGSS
X +2x2 +2x+2 sl@iug X t n adiaid eugeusdeyleen
O ajainus GaTaRiyHEBI0meD aMIHBTL (H5.
(1997)

2
x° -1
y= m SIgSTILL BeTengl. X DL Guunursepd 2

Beimbad )\ BOBHESHD Caupu G BGHGWOUTH Y S5

wngruiepnd @@ OuuINGuuonensems aEUIUSDES ) BDerer
Guuonenmiselien eiFengd HiTawIS.
@ xy Cpayaia,

x x+y
1+x 1+y 14+x+y TIEHIL5S-
@@ 5 <x+1 o @i x @1 GupoTEEeRs GaTeLawd
' ST, (1998)

a b, ¢ qeuen Fwldend eIy aeuSel. X, Y, Z a&iue

2

x‘=a+yz, y2=b+zx, 22=c+xy elend SILLI1pHIAT6HT

ax+by+cz=0 o8 @opsnred wisHnw x+y+z=0 6
Quend &M (H5.

+z3—33\:yz=(‘x+yz)=(x+y+z)(x2 + 2 +zz—xy—yz—zx)

SIRID (IPIgemeul LGB SHSE0MD ]
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(b)

29. (i)

(i)

(©

30. (a)

sweatur(® X abx+c=0 @a weomasea o, eeflei

a+B=-b, apf =c ameyd &1 Gs. O @mbaHD -1 @elmbeId
1

Gaupi Lwrgrulad @m GuouiGwes p uineg * 1+ SLBOD

1 : .
B:l+p+l DBOD BminIen (]+b+c)2 = b% — 4¢ amapd

c=-1 ameapd &1 Hs.

SiICxn(H b,‘c s duiupiies iy (G nsmIBNeT HSHIHIMTHBH

PRLES

SIGIUGUMEND (PELBIGNTES QETERIL  BHLigsF

P p+1
sw&Ln(® gaimml Qumis.
(1998)
X X
-1 < x_0 BB BmeHE X B Qupiotemissiial QsTenLanws

ST,

y=3—|x+2| @emgup ¥ = l2x ~3x% 4 5P | @emend SEOUGH
susmenuisenen @By ewfiiiiHHed LHLOLIQUITS CUTS.

swaflellsei 3—|x +2|2y 2 ,2x -3x2 + x3| S 0L E @

SgCapedamns Bipmmis.

ssoeor Quoul X @PGY x> +2x + 3> 0 aMGHT GuUBHEG B
wyy (penp Binsuenscll LIWSTU(BHSHSIS.

(1998)
CaupBaupnen p, g, r BN
P+y’+2=3(p-q)(g-7)(r - p) mawp
px+qy+rz=0 saap x+y+z=0 ssap @oile
X=qg-—r, y=r—p, z =p — q aaissn_(5s. k
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[x3+y3+z3—3xyz=(x+y+z)[x2 +y 4z

(b)

31. ()

(b)

2 _xy-yz —zx]

AL LILIGTLHEHSHETLD. }
(n>1) asug syium L gouBiepGuet aea > 0 e
n-1
Ganens. § wrmed Cumgy (’H‘]).t + —t— @e1 BaFfiu Guunoresnd
! @ma srewiss.
. n—l1
k> 1 oy@iBung swen( (n+1)1 + - =k uler Gmapeonsimsemd
CrynarIemel eISHHT_(Hb.
n—1
(n+1)1 + - = V8 (n+1) @er GuAwwEmE n @er sriGed

BT,
(1998)

x+2
x-3

>4

sweflel 0 Hiss.

f(x)= x? = 2x +2 spmap, g(x) = 6x> - 16x +19 B

f(x)+ A g(x) s a (x+ b)2 aaigd angelsd BHHGWIMm A
ol GUDIETETEIGENENS STeis; @niE d, b sdwer Quunordiedssi.

- @gedoies f(x)= A(x—3)" + B(x +c)” anasio aGigmmis

A, B, C sydwumiiel QUIIDTRIEIGMS SHhb.

g(x)= lOA(x—3)2 +5B(x+ (:)2 aEET (5.

f(x)

SGaHTH g(x) @at Wssdiu Guporasamsupd 1BsH@Lfiw

QUEIOTENGHENBURD HITERIS.
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6. ABTLaBeT (Series)

oL A&TLT (Arithmetic series)

salL6d QaHTLT gafiar (pseomd o miny g, Gurg elsHungd d sGw.
@5 G flar r speugh 2 piy Uy,
Ur = at+(r-1)d egugred gyii.
- n 2 puysseiar sl GHRsTmE S, , el

Sp = iUrz ia+(r—l)d=§[2a+(n—l)d] SLGD.

r=1 r=1

o gsuigep 1

B salLed QamLisslear n 2 mnbselal gl HH0sTanssefla alfsw
2n:n+1 u@w. alLmd o pinEseia IHBHMBE BTIS.
popeomd 2 _miny 4,

Gurgy elsHumsd d,
n e grEsaia s GHEsT®E S,

ppeod o M a,
Gurg eigHusd d,
n 2 gunyssdial sl (GHEsTME S,

S = g [2a) +(n-1)d}] S, = g [2a; + (n-1)d, ]

5 [Zal +(n—l)dl] 2
S2 - [202 + (n—l)d2] B n+l

a + 7dl

eilLmd o mnibsefiar eldsbd e+ 7d
2 2

f-
S| _ 2a;+14d; 30

n=15 , = =
A S, 24, +14d, 16
a + 7d1 _ E
a + 7d2 8
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® sigeond 2

Falted QeTLi gaidar (pgsed 7. oM sseilar sl BHGsTME 2N S, GLD.
s 2n 2 gindsdiar sol GSCBTmE N aeflal, (psed 4n o mityssefe
ol BHOBTMBMWE SHrewis

Snzzn:§[2a+(n71)d] = 2a+(n-1)d = 4— (1)

Sop=n =32’3 [2a +(2n-1)d] = 2a+(@2n-1)d = 1—(2)

Stn = 42—" [2a + (4n-1) d]
%“z—n=2n [2a+(n—l)d + 3nd]
4n

|

= =2n [4 + 3nd]

(2)-() = nd=-3
S S84 =2n[4 - 9] =-10n
4n o pidsaier sl GHGsTEms =-10n. oy@wb.

umss ABTLT (Geometric series)

eord o gy g, Qurgy ldsb 7, n o pliyssefia sar G505TME S,
AN,

Up,: arp—l
n n .
Sn DU, = Y arP
p=1 p=1
— 2 n—1
Sp=a+ar+ar” +....... +ar
r-Sn = ar+ar2 e +arﬂ-‘l +arn

S,(1-r)=a (I—r") | 186

| a(l—r")
R

Sp=a+a+a+...... +a (r=1 eaeiar)
=na

OBTLIT PBHRIGUBDBTRT B BHeheor

‘ n
ZU, » Sy = ZUV ST

r=1

R——— 0 &&, §, — e a6 (f) ereflen QgL ZU,

YOBEG GBILT slelu®Gd. B Gamfar (pigaied 2 mindaelsn sl GEOsTans

[s o]
| sy, @a) ZU,, =¢ e awWslUBL

n=1

UGEHD ABTLT QmRIGuDBHEHTT Bub &Hener

n
S, = Z arP! = P
p=1

@H -l<r<l aeledl, p — 3 o D5, rn_._)()
(i) r>1 eaafler, p — 5 0 s, M—sw 2

(i) r<-1 acle, p — 5 0 o5, s pyeladl siemevwib
_ (Oscillates infinitely)
(iv) r=1 aefe1, S, =na,

n—-—>0 K% §, — 3 w0 (@>0 asfar)
S, — —0 (@<0 aalar)

187
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= 0(n BylenL erefasr)
= a(n gnem eefen)

n—>0 S8, S, Weaemsre smeoupd (Oscillates)
a(l—r")

= —t — .r
S 1—r l-r 1-r

r=-1 guew Guig QaTLi gmnmEsTs
-a160186u, QUEBEBD GFHTLT FEBIGMSDES (CaTLiar Gurgielidisw r)

’rl <1l oz60 GoussiBLo.

a b @pigsded
f|r|<l a0 BB, Sy —> —— HGWD. Py

a

S T, e

2 miysseflal sl BHOBHTHMS
2 _giyssnb 3
Qupsssd QFHTLT @afial (PpHed e 2 mliysseia gl GHO0STMS A

256D, (Peded 2P Ssial sl BiHoenans 2 speat @mudsar GTLays
sTens. (PHoMd 2 gy a, Qurgieldlsw r asis.

9 9
a+ar+ar = ‘a(1+r+r2)=z—(l)

Sep = ——=2 (2)

a=2(l—r) aar (1) @0 Syl

2(1-r) (1 +r+ r2) = %

188

3
8 2

2 _FSTyemnp 4

1
24,8086u r = —E,a =3 syEw.

Oareumd Bresih CuEmSHE CarLisED) YULsSSEEETE X B Gurgii
Quuuotend wWrgib Bedene erens STL(Ha.

® r ® r
; 5x -6 y 2x - 1
0] Z(3x_2) (ii) 2(4){_.5)
r=0 r=0
2 (5x-6Y 5x—6) (5x-6)
Z =1+ + + o
3x- 2 3x-2) |3x-2
r=90 )
GeILT 9BmEE |r|<1 o6 G,

|r|=

5x -6
3x -2

5x—6 2<1
3x-2
(5x-6) —(3x-2)% <0

(2x-4)(8x-8) <0
(x-2)(x-1)<o0

<1

Sol<x<2 (4)

Cpeoreug Gl goms 1 < x < 2 gy@b.

189



© (ax-1Y 2x-1 (2x-1Y

Z =1+ + o
4x -5 4x -5 \4x-5

r=0

) ) | |2x-1
Qs gmms lr|= '4)‘_—5

2
2x-1
<1
4x-5

(2x-1)* - (4x-5)* <0

<1 ope CawiGp.

(-2x+4)(6x - 6) <0

(x=2) (x=1)>0
x<1 ooz x>2 (B)

Brein_teug GaTLT gmmus X < | Biebeog X> 2 su@ib. ceBsu @ GaTLiTSEHID

SOHRBHHSHTE X @DGU Gurgil Quynorend @edensv.

D SIJemID 5

weemd o gy a susaw Guigieddgd r SyEaw o eLw QuHrEsd

GaTLi gaider n o miysseia sl GE0sTms S, aalsE, S, = W

sl mieys. 83n = Son = 2" aen Byeys.
Sn
o .
Sy, ~ S . .

r= 'l- aIlg SHYLILIQET, z-—u S SIS

2 n=1 Sn

: 3
a(l—r") a(l—r2") < a(l—r ")
Sn = 1-r » o S2n = 1-r ¥
190

S3n ~ S2n 2In
S, =r aew
E&S__SZA = irzn - i(rz)”
n=0 n n=1 n=1

1 (1Y
= — a’ﬁ’ —_
r 2 T mg(4)

1 .
Brg wsomd 2 piy a = Z, Qurgieldigw r =4l
i
al = 1/~ 3 SHGWL.
& T o] 4 ‘1“/4 _3

o FHijesad 6
4+44 +444 + 4444 + ... adignd Qemflar 7 o piyssefs
S (hH0sTmEMWLE SIS »
=4, uy=4x10+4, u3=4x102+4x10+4
4, =4+4x10+4x10% + 4x10"!

=4[1+10+102 o +1o"‘]



4
81

[10"+l - 10—9nj

® SNy 7

1+2-3+3-32 +4.33 4 asm Gen e n o piysseisr

sl G505 %[3” (2n—-1) + l] aed S G,
S,=1+2-3+3.32 +4.33 4
38, =1:3+2:3% 4338 4L (no) 3" —2)
M-() -2-8,=1+3+32 433 .. 4371 _p3n

228, (1+3+32 ........ +3"")-n-3"

= [3"(2n-1)+1]

-I:-I'—-

safdd NSTSHHHY wpenp (Mathematical Induction)
amiisd CaTE@s0 Wop (pyasamen Chi BHlop aaisense BHipew Curg
LWHTURSSLLGL. @miG n=1 S5 Wy 2 aiimw s Bnesed GauemiHL.
P Cpi Penp etemisents @més N = p NG (PYY 2 QU 6l fbsHSIS
Garen® n= p+ 1 @ne o aimw aa Bpessd Couasi®L.

2 Fiyewid 8 B
saied OHT1GHSHSH @mmmwi}!\UGéﬁ

Z”: n(n+1) 2n+1)

6

STBTELD

n

ﬁ e Bpieys.

(ii)

r=1

1
Zr2 aifl GamLi eteayd, ZW QOmEIG GzTLT b STLig,

@rewiLmeug Gariflal upeled 2 mydsseia Fal BIHOBTOBMHWES STENIS.

] - 2 n(n+1)(2n+1)
W 2=

r=1

n
n=1 s B.ms vsaElbd = Zrz =
r=1

193



n—> w0 B, S, —>© SLGW. ereBGou Zrz afl QsmLgm@Ld

.. Ix2x3
.ME UBSD = =1
6 n ! .
BLE ®alussd = g MBULSED (ii) Z r(r+1) = m
T =1 sus (ppy o adiemi. n=p @NG (PYY o WM TS, r=l
fz_p(p+1)(2p+1) ooy Lt ]
= n=1 o5 @ms usswb rir+1) 1.2 2
r=1 r=1 .
p+l S |
r2 - Zrz " (p + 1)2 LG MBLULSGSID — E
r=1 r=1 BLg oslLGSL = G MSUUSGSHL
n=1 &% (pyy o ewiend
p(p+1)(2p+1) 5
< +(p+1) = b e : :
P BD® Yy 2 UMD 6I1aTS.
(p+1) SO
= pRp+1)+6(p+1 =_P
6 [ ’ ) ( )] ’glr(r+1) p+l
p+1
=( )[2p2+7p+6] p+l1 1 i 1 1
= +
_(p+1)(p+2) (2p +3) Sy Sirir)) (p+1)(p+2)
6 _p 1
_(p+1) (p+141) [2(p+1) + 1] p+1 (p+1)(p+2)
| j (p+2) +1
p\pt+i)+
n=p+1 s Wy o amimw. =
(p+1) (p+2)
awiGo safizs GsTEGSHN WPeHDILMTED aedsvT CriBenmerent n @@ 2
, | | _ (p+1) _ p+l
2= n(n+ )6(2'” ) 6. (p+1)(p+2) p+2
r=t n=p+1 s Yyy o aiow. aaGan izdh GHTGHSD (PeODULITED
. n
w2 _n(r+r1)(2n+1) ' - 1 n _
S, _,Zﬂr = p; aieveon Gui Hlenp aremieiHELD rz:,:l;m~m S SLD.
195
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——r(r +1) POEG QHTLITEGW -

<O
S =
® Zr(r+1

r=1

=1 s

®_ iy 9

ne®m Cpi HeopGuetiemis @mas 32712 _gn - 9, 64 o0 (BAulesndl)

UGUGLD 611d ST (HS.

f(n)=3""*2 _8n—9 aais.

n=1 as f(1)=3*-8-9=64
64, f(x)gu Sfagw. .. n=1 248 pyy 2 esiew.

n=p @& WYYy e W0 G,
64, f(p) g\ SRb@H>. opraizs 64, 32P*2 _gp 9 g INéeb.
f(p+1)=32P* —g(p+1) -9

=32.32P+2 _g, 17

=3 (32742 _gp - 9]+ 64p + 64

=9-f(p)+64(p+1)

64,1 (p) mi Gféeib 64, 64(p+1) ginifeewn. aanBer, 64,  f(p+1)

guifls@w. aaBa safiiss CaTGSHsH WPopWTe aeer GBI Blenm et
n @bsw 64, f(n) gl INdeb.
196

AT Tomefen ani’ HHOIBTEHBMUIS HTSHED

c 2 < 3

Zr, Zr > Zr agiuaunal sl HH0sTeESMmeNE STaRGUTD. B
r=1 r=1 r=1
FL(H50sTmeEsmNd STILSNHEG UOGai (pemmeEe o _erIl.

n

Sro

;e SIS,
r=1

wpenp I f(r)=r
f(’)—f(r—1)=r2—(r—1)2=2r—l LG LD.
f(r)-f(r-)=2r-1

r=1, f\(‘l} S(0) =2-1-1
r=2, - ty.=22-1
r=3, f(3‘)\ 9)_23_1

ren-i f(ﬁ=x)—}‘<ﬁ~z) =2(r-1)- 1
r=n, f(n)- f@L—

r=1
n
n2 -0= Z-Zr—n
r=1
" nz +n n(n+l)
sy zl"- 2 2



wpenp 11 apenp I
f(r) = Ar? &+ Br aeis. f(r) =1 aais.

L i FE = flr-1)=F (=1 =32 <3r+1 syeid

Fr)-Fr-1=32-3r+1

(4r? + Br) —[A(r—1)2 + B(r—l)] =r

24r+ (B~ A)=r; 24=1, B-A=o0, A=B=%

r=f(r)-f(r-1)

r=1 1= \f(l)\—\ 7(0)
r=2  2-7@)- 7M.
r=3  3=70)-76),

................................................................

r=n-1 n-1=f(n<1)*}(”““~21 .
r=n n:f(n)—f\(ﬁ'“o

~

zn:r=f(")—f(0)=An2+Bn=-;—n2+%n=

r=1

n
1
2,586, Z" = n(112+ ) SpG L.

r=1

n
2 me aram
r° mé smeme.

=1

198

r=1, JEL - £(0) =312 - 30 41
r=2, 7).~ 74) =322 32 4+ )
r=3, £Q) —\7(z)\= 332 — 3.3 4+ |

r=n-1, Pa=1) - £ (r~2) = 3(n-1)> ~ 3(n—1)+ 1
r=n, f(n)—f\(71~1) =3n° -3n+1

~

f(n)—f(())z_’»-ir2 —3zn:lr+n
r=1 r= .

n
r=1
3n(n+1)

n[2n2 +3n + l]
- 2

irz = % (n+l)(2n + 1)

r=1
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wpenp 11

f(r)=4+ B2 + Cr asis.

r2 =f(r)‘f(r—l) sty 4, B, C gé srene Geuasmi(Hd.

r? =[Ar3 + Br? +c’] _["’("“”3 + B(r-1)” +C(r_l)]

=4 [r2 +r(r=1)+ (r—l):] +B2r-1)+C

=34r® + (2B-34)r + (4- B + C)
= 34=1, 2B-34=0, A-B+C=0

r2 = f(r) - f(r-1)

2= ) -£(0)

~

2= AQ-HY

................................................

(n=1)* = Jbnc))- f(n-2)
n? = £ (n) - £ (i~1)

if =7 (m)- £(0)

3 2
S| ) g ) (2n4)
3 2 6

- W]

200

Z":rz _ nn+1)(2n+1)

6 siend STL(HS

W 1P+324+5% 4 +(2n+l)2

G 12-22+32 -4 + ... — (2n)° + (2n + 1)
@ 3 r(r+4)

D 1P+32+5 4+ o, + (2n+1)2

=[12+22 F o +(2n+l)2] 22 [12+22+32+ ....... +n2]
2n+1 . n
=Z:r2 —4Zr2
r=1 r=1

(2n+1) (2n +2) (4n + 3) 4 n(n+1)(2n +1)

6 6
_2(n+ 1)6(2n +1) [(4n +3) - 2n]
_{n+) 2n +1)(2n + 3)

- 3
() 12_22,32_42 4 .. —(2n)? +(2n+1)

= [12 +22 432442 4 +(2n 1) ]

-2 [22 +4%2 467 .. + (2n)2]
201



_@na)@ne2)(4n+3) on(n+1) @ne)

6 6
_ 2(n+1)6(2n + 1) [(4n +3) - 4n]= (n+1)(2n +1)
(iii) ir(r+4)
wep 1 ”r(r+‘4):ir2+4nr
r=1 r=1 r=1
3 n(n+1)(2n+l) 4n(n +l)
B 6 2
- ”("6”) [(2n+1) +12]
_ n(n+1)(2n+13)
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SIQILDENDES BHIT6ITIGH.

3
(l+2x+2x2) Bai elflafled x" Qe Gewsw a, aelar

n

a, +ay +tag +ag =63, a;+a;+as=62 aa Hyeys.

6
(2 -x +3x2) Ber siflelled 4 Qa1 GaNss®BE BTN,
7.
(l - 3x +2x2) B x B gOBEGSoone eiflae x> eueny SIS
R 2 7 . . 2 . . . .
(2 -X—-Xx ) Ben aiflaled x° et GONBHMBE HTeHIS.

21\ 10 2 . . .
(l—2x+2x) =l+ax+bx” +.... ol a, b mé srems.
daumd elfleysefed 18aUGUAL o prienus STes.

4
I 1 9 3
@ (5“‘31‘) x=1 g (i) (2-3x) X=3 A

(1+x)"=C,+Cx+Cy x* +...+ C, x" adia SeiumauataubaD

n!
(@6 C = —T s
Poeys. (@nig C, (n=r)ir G
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: n-1
@ C+2-C+3-C+.tn-Cy =2
. o
(i) C, +2-C3+3-C4 +...... +(n-1)-Cy,=1+(n-2)-2"

-1
Gii) C; —2-Cp +3-Cy ot (=) 0C, = 0

1
. p Cl C2 — n .Q__:
(lv) Co——z-——+——3—— ....... +( 1) n+l. n+l
+1)
Cl C2 C3 . C” :n(n
A 4225 3=+ +n
\2) o+ C, C, C,_1 2
+1
" 1
C 3 CZ n+l Cn 3
2 1 .
i) 2-Co+2 '?+2 oo 2 n+1 n+l

| n 2 n :
42. ) (1+x)' =C, +Cx+Cx" +ot Gy x el

2 _ (2n-1)

2 2 . I S A
C +2-G +..... +n-C, [(n ~ 1)!]2 aer Bimieys.

(ii) (3 +2 x)15 @ aifleles WsUGUAL GENSMBE STEHIS.

43. () (1+x)" =C,+C x +... + C, x" a1l
C,,C,Cqinnnne C, a@p FOHDIYS Gonsnseied WeiGuiluig
0> > EXLN >

n @yleLwirule '24 aiad

Cn—] Cn+l

2 2

n @menpwiruiet aatap Hpas.

20
(ii) (Zx + 3;) acigib elfleled (a) BaLGUAL GemsESMBUID

b) x = “;‘ opuial Bs0GUlW 2 EIEULLD STeRis.
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44. n aaug 9® Coi HopQusianTulmbs,

(1+%)"=Co +Cx + Cy x* + .t C, X" c16n Biyouss.

C n!

CLCI (n=r)tr

2n)
@ CoG+QC+.tCpy Gy (2n)

() C, C, -~ C\Cy # et (-1)" ' C,_,C, @1 GugnoTensengs
ST,
45. n esiug Gpi PenpQuisRiGeseie,
(1+x)" =C, +Cx+ C, x* +......+ C, x" aien Bigoys.

n!

8mg
15
(‘/; + E{) @& rEpmity elfleled

(i) x gF svgng e_giny

1
(ii)) x= Z%ujﬂil WaliQuflw o gy asuamend STes.

15
46. (i) x @1 gPEEGHeMD (2x +3x7)" @ai eifiedigision V&l Guw

GNBHMBD BT,

Co+2-Ci+3-Cy +uet (n+1) C, = (n+2)- 2"}

sims BTL(H5S.
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47. n 9o Cui PHenpOwaiamTSaD,
(1+2)" =C, +C, x + Gy x* + ..ot C, X" pmogd BEES.

Cl-Cl+Clm i+ (-1)" C,2 =0 (n @pop aitiah)
(1) e
=" (n @il eaaiia) earaud Poieys.
(%"

2n
(x + —) Bear alflalsd X @F FTITs 2 MIUMUS BTHHIS.
x

@auamiiy elfielar BsiGuilw o MIiuTe sl X BT PubSeeISe
wireneu?

48. n 9® Gpi HonCuetieTaTEMD
(1+x)' =Co+CL x + Gy x% + oot G X" pmpp B85,
@0 CGC -GG+, +C,_,C, ms srens
) C,C, -G C y +t(-1)"""C,_, C,
=0- (n-r) epeop aafiar

n-r

= ) > n | (n-r) @rioL aalan

1RIE

e Hpas.

n » 3
49. (1 +ax + x2) B ifleled x° BT GWBHDBE SIS, @EG N 9

GpiHeampGuesil. BHOmBBCHT Diveog Ceup subuirGson
MC=32-"Cs+6-"C3 +32-"Cy amé &1 (s
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6
x
50.(a) (1 + g) Qe sy elfleled x @0 QuTmSsTen

CuuoTEgens (il LWRTLGSS (- 01)6 52 BIEIG QUITmEH_W
BEsRBENEGS HHHSTE0 QUIIDTEID Seibs.

®) (1- k)c)6 =1-12x + px2 + qx3 E— ereeom Quows X @M@th
sl SFULLBeiTeng). A , p, ¢ B QUDIOTAIEIG®NS B6swImH.
@eSwibar (1+x)° (1- 4x)° asiugen oifedes

x3 Be1 Genssimss STEHIs.

31. () a,b asiuen GuiBweiaEaD, N 9% Gt BenmGu ek seafihiss,
(a+ b)" @osren rmmoy edflemen siupass.

(x+2)° ® IMsm awd . BHSEHS (x+2) -(x-2) m x
8 9O UODITUITES ©_emiTdgim.

2-P+1-9° & QupOTESMHE BTG,

9
. k
(i) (216 + ;) Qe aifleied 5 Qe Gommd 128 suEw gmaw k

Ba QuisdsEe QuEIOTATEIGME HNeRwIS.

52.G) (1-2x)° m x @1 gnGEGEaied oiflis.

8BeSwba (0-98)° mud (1-02)° muss mibs srvsrarsEies

7
. l
(i) (x - -5?) Ber alfialed x Bemgud ;5‘ Begd GamsEsmens

HRES.
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9. FbHBHOYVGIN BT

x2—1=0 @at giwas sous.
x2—1=0, (x+1)(x-1)=0; x=-1, ooz 1 seb.
X2 +1=0 @& Fielowms sEES.
¥ +1=0; x?=-1 ceGa Quuisgie Beme.
i g @GHuS® i2 =21 DHSWITISTTEN cTaiienanid GUsHRDH ais.
x2+1=0; x2-it=0
(x—i)(x+i)=0
x=—i énsbsuy, i
FHHplvan @arper GlLTHiaugand

a, b eguen QuuiGweisats Snss SesGwmemt a+ib aams GhésILELD.
a asiug HssQevetiefisl Guwuig® aeaeyd b sz HbsQevemenia
SHUDILILGE slamayld GHILULEL. AsaGeam Z oueng

Z = a+ib eaeien,
Re(D=a, Im(2)=>b sys.
a+ ib aauded a = 0 aalar, HésGeosst i b @b
83 grw spuenent et aEILILHLD.

FhHONTNBNH Tl L0, SYHHD, OLGHBBH®, €l dH 0
Zy=a+ib, Z;=c+id asian,
Zy+Zy=(a+ib)+(c+id)=(a+c)+i(b+d)
Zy-Zy=(a+ib)—(c+id)=(a-c)+i(b-d)

Z)-Zy =(a+ib) (c+id)=(ac-bd) +i(ad+bc) sysw.
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® L& youts Fhsblevast (Complex conjugate)

Z= a+ibeadia, Z@er o Lal yanfédss@evei Z=a~-1ib
6181 6UENTUIMISSLILIHLD.

Z+Z= (a +ib) + (a-iby=2a - GuuwGuem
Z-Zz(a+ib) (a—ib)=a2 +52 — GuuGues

Zy _a+ib _a+ib _ (c-id)
Z, c+id c+ib (c—id)

(ac+bd)+i(bc - ad)
‘ c? + d?

ac+bd . (bc-ad)
N T M R R
c“+d c“+d

Faatlwan @aigen w'® (modulus of a complex number)

Z=a+ib eafle, Z @@, . lZI NG GBS ILBLD.
IZ' = ,/az +b% aan SUDTUIPISSULGLD. |Z| > 0 suw.

swaILT® B30
x2 +x+1=0 @1 Srelmens sTamid (peop Bmig STiULBelieng).
A=1-4=-3<0 gioymet Quuiwrateney Si6VsV.

x2+x+1=0

300

y &b ,
Z=0elat, Z=a+ib=0 < a=05b=0 o
PhBEIVSH BT

Zy=a+ib, Zy=c+id ees.

Zy=2, adfer. a + ib=c+id
(@-c)+ib-d=0
a-c=0,b-d=0
a=c, b=d

w6y, a + ib =c +id < a=c, b=d S GLD.

S®ULSF FwaTuTl et &Fbaelevasi (psomisseir

ax2 +bx+c=0

‘= -b i\/bz - 4ac

2a

a, b, ¢ esuen QuUiIGesis i

X

-b t+ ‘[iz (4ac - b2)

2a

b% —4ac< 0 eafar,

:Ilii \/4ac—b2

2a 2a

x=ptiq b

X

x= (4ac-b%>0 as0)

BougssoaUTOLTENG @m apeotd p + i q erefiet, ( D, q € R) LODHENDUIG)
DB o L& yemfl p - i g Sy@.

2 SHrgsmnd 1

@ x2-2x+10 8 gsufiotens smefssis QuessoTs auwd

x
¥2 _ 2x + 10 8 uGAIIRIIOTSS 5.
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(i) Z=a+ib (b#0) spsapp Z + 0, Zo asiuar GuuiGusrismmseab
. (6=0) o Zo =(ac - bd) + i (ad + bc)
Boulat © =a—-ib ams &I Gs.
Zo 9® GuuGues. o458u ad +bc=0

(.ii) 2+i)@men 9B WOLTSE GEHTERIL BMUYSFFLSIUT BLE TS —-ab+bc=0; b (c—a) =0;b%0 .. C=a

(iv) 3 - 4i @& aidampasmds STHS. gaa o =a-ib e

@ 2 —ox 4 10 = xz'—2x +1+9 (iii) @@m apeud (2 + i) aiefilell, DHENDHUI PEVLD (2 —i) DLGLD.
= (x-1)2 = 9i% = (x - 1 -3i) (x—1+ 3i) swaun@ [x - (2+i)] [x - (2-1)]= 0
x A+iB C+iD ' x2 -4x+5=0

12_2x+10=(x—1—3i)+(x—1+3f)

(iv) y3-4i=a+ib ams.

(A4 +iB)(x —1+3i)+(C+iD)(x~1-3i)

- (x - 1-3i) (x - 1+ 3i) 3 —4i=(a+ib)
x=(A+iB)(x—1+3i)+(C+iD)(x—l—3i) . =(a2——b2)+i2ab
x =1-3i aeflar x =1+ 3i ashich a’ -b% =3
1-3i= 0+(C +iD)(-6i) L+3i=(4+1B)6i+0 2ab=-4
1-3i= 6D-6Ci =—6B + 64i = a=%2, b=Fl
31 B=-1 4=3 Brai =£(2-i) asb.
C=g,D=g R 6
1 81 san (pomisen

x _1 B-) 1 3+ &

xz 25 +10 - g.x —1-3i 6 x—1+3i x3 =1 s s Gurg GupiuGw x Be1 Guuoremise | @

. SAPEORIEET B, GLD.
1\[ 3-i - 3+i] x3-1=0

- +
6 x-1-3i x-1+3i

(x—l)(x2 +x+l)=0
(i) Z=a+ib; 0o=c+id

Z+o=(a+c)+i(b+d) .xf-'l' SIOROZ x

Z +0 9@ GuuiGuiesi. qge;iem b+d=0; d=-b 2 -1+ 1-4
2

24x+1=0

He=:

N|&
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@Geu 1 somIGeh | l+i 3 : lﬁ i (1+(1))2 v
& &I i ol e e I .
© J
3 0 . . . . .
© = —l+i 1/5__ p—— siQueuNlelT QUIIETETRISMNS ST TS,
(ii) (l+i)20 Bl QUOIOTESHMBE S,
2 — ;
. 3
ot [ LB =(1_z)_,.£ | M -1
2 2 4 4 2 3 -
x> =1=0
=_.l__,'_‘/i SLG1D. x =1, (o,wz SIS 6D
2 2 : 3 3
o’ -1=0 =0’ =1
__1 B |
Ty Ty e (‘”“1)((’)2+0’+1)=0; ©#] amBa | +o + 02 =0
) } o
2 (1 A3 (1 3) 3 2 (_? 4
=i === |+i— l+o @
@ (2 2) 4 4 2 @ | )=( )=9_=m3=1
. [ ®
1 .3 2 2
= 4 b (b) 1+20 +30°) {3+20 +®
Ll (1420 30) (1204 02)
H,560 spHumal omEllsd EID © eefdl, DU ~ SLGID. =(1 +o+0 +o +20)2) (1 +o+0+o+ 2)
oG | @& a1 BB 1 0, 02 SEb. ={® +2 ) o +2)
1. .43 1 .43
(8w @==gtis SisOF) —5—'7] =0 (1+20) (o +2)
oasug x> —1=0 @& 9B Wb ASUBTH @ =1 G B

2

Cogid @ e&uH x“ +x+1=0 @1 o> BeoMed

o (0 -0?)(1-o?)
o’ (1-0)(1-0?).

e Fpiyswnd 2 = 2 [1 2 3]

(

o[(1+o+o)( 1+(o+1)]
(
2

1+0+ 02 =0 G0

2

1, o, ©° asus | @a1 san apemiseT ereis, ‘=m2 [2—(0 ._(DZ] =3(02
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r- wl@®, 90— adfsad e
—n<0<T HEwip 0 SmupHoulas § smemwn elFFd (principal
argument) setuGw. @ arg (Z) ams GH&sLUGL.CurgiaTs alFsb

7, 8 9

(c) o +0”+0 7(1+co+(o2)=co7x0=0

‘ 10 5 .. . .
Gi) (1+)% =[(1 +i)2] = (21)" = (%) 210 =210 aeigub Gurgl O BHG ue CupoTEEe o G B Arg (£) ams
GSDSBULGHLD.
opmen anflwn b (The Argand Diagram) o ZHryswid 3 . . )
A y deiumd Hbsevemiasiian LG, SHmeVend INET: ) slanusume.nm& ST,
Z=a +ibeaas. : () 1+ @) -1+ (iii) -1~ @iv) 1-i
Ox, Oy aawen PMISGsTa _ s '
Comigssrar &n oFassd. Ox, Oy P(a,b) W) Z=1+i= (L . z—l—) , P(2)
aaiual (epBuw QulsiFs, | V2 V2
SPUMSTDIFS 61681 DIMPSSLIL(HLD. | ’y
fes0ee Z gpmg Oxy sengded (a, b) g 1 = (cos£+ i si,,E) 4 R
eigapta o e w yerell P (a, b) l 4 4 v
Heamed GPEsiILGD. o X .
Z=a+ib & P(ab) o v =2, arg(Z)=
FHHOIVSH PP (PeneAQUTET FuDpP Qllpand i 5 T @)
Z=a+ib aes. K (i) Z=-1+i=+2 2 t
X 3x
/ | 3n 4

- 02 +b2 a +i- b ' P =\/_2-(COS3Tn+isinT) \ >
« \/a2 +b’2 a? +b? | ; ' 0

v ' 3n
=r (cosO +isin®) [r > 0 gy@w] : WG =v2, arg(Z)= e
Z=a+ib  Z=(r,0) syew. 0 | (i) Z=—1-i
@re a=rcos®, b=rsind sew. 0 1

1 [ 3
_ ___,-_)
Phsdeah P w G alesyd V22

v

Z=a+ib eas. e mrﬂDULMa’J faaQeoent Z, P agyd yeireMuienmed [ 1 ( 1

|
S|
o
7‘
[}

&P6sILGAPH. Z @1 w' G gemd O P Wiemsd @RSSILGD. =2 L——z RO
. = 2 — | +isin P
Z=a+ib=r(cosO + isin0) 4
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~3m.

4

w6 =V2,  ag(2)-

Qug Z=-1-;
ol (4]

St) .. (5S¢ '
- =2 ] cos T + isin 4 | emepd supseomp.

Sn

T Semsvsnw alFsb Meven IRIUMNSE Souaioes,

(G )

om | 5n
¢ olemse gupy Arg (Z)= 7

V4 .
‘ 5 »Z3, / HITFHED

N Zy=(n,01), Z3 =(n,0,) areles, ?l » /7, 8
Z=(n.9y) Z; =y (cosOy + isin®,)

22 = (rz, 92) Zz =n (cos92 + isin92)

Z,-Zy = nry (cosOy + isin®)) (cos®y + isin®,) o
=nn [(cose] cos0, — sin®,-sin0,) + i (sin®;cosO, + cosO sinb,
=1y 1y [ cos(B) +02) + i sin(8; +6,)]

2 25 = (nn, (61 +6))

Gwgud |Z) Zo| =(Zy| |2,

Z,  n(cos0y +isind))
Z - 7, (cosO, + isind;)

¥
Z=1-i= V2 [cos?+isin?]

IR D TG e0MD.
Brig,

T
T Booaw olFsnm Sidep,
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n | ‘(cosel + isind,) (cosB, — isind;)
) :2_ (cos0, + isind,) (cos, — isin®;)
—> r (cosOy cosB, + sin, sinB5) + i(sinB) cos0; — cos0,5inB;)
o % B ;;— cos? 0, - iZ sin® 0,
\p =5L[cos(9| —62)+isin(91 —92)]
n

2 _ (’—', 0,- 02)
Z, \n A
Z

n
Zy

n
) i -0
Py 01,0, asiuen oo eisswrs Gouiamd, 0 +0;, 69 -0
Uq: l, 2 - - - A
N asiuel Gmemip aiFsTe QHds Camnguiame

Coaid
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P(Z))

e arfiiun g@ew Z; + Z,, Zy-Zy, Zy- 2, Z/z
2

BSW Fhsflocinacn aasd o560 P (23) Py(2,)
Q=X1+iy, Zy=xy+iy, acias.
Zy,

Z, adGigd HésQeoatiasi 2561 afiliugHed 1pemBGuws A, P

SISIEID Ysieaenmed Gfsasiupdamea. P = (%1, yl) » Py (x,, »2)

(i) BSoansnd OP, PP, gu WisPunggas. yeiell P fdsQeosm Zy+ 2y

NG GHGGLD. ;
P, B @h® swaib, sonpsywpn s O 0 aemjuiubGdipg. yeref
P P Q, fasteem Zy -2y e GHMSESLD.
P2 /N PI(ZI)
/P J/ .
\ /7 Poeusd : OP, QP aauen N @sd Qent Geu Gaimen.
7/
s\M OP QO @i @maus)ib.
7/
/ Py (2,) x
A N RN OP, @& pGUysiel N; NE(—I,H)
0 7 0 R4 » 22
OP, @st pBuysted N; Py =(x3,¥2)
s Q= (X — X2, ¥ — V2) G-

0 ePsew fesGeosn (x; —x))+i(y)—y)
Bmieusd : PP, OP aguen M B @t Qeu Bhemen a1, - (xl + i)’l) - (xz + i}’z) =Z, -2,
M, B P, @a& p@insis.
GuwBev (i) Geveien LLSHOmbBEI, (ECHTeEuIe Fuweledd CHDDSBeHHHSHI
B M=|X11TX2 Y1t . )
&y = S T OP+ AP>0P (w&Banel OF P @)
Z: + 2| e (1
M, 0P gan p@uyersh. O = (0. 0) |le+|22]>| 1+ 2) 0
OP,, P, P eaciuen @By GpiGariysd senwoud asfiar,
OR+ARP=0P

|Z)] +125| = |2} + Z| ——(2)

& P =(x) + x5, )y - ¥a)
P efbew Asseem (X, + xy) + i i+
= +in)+x +ivn'=2 +2,
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(1, 2) 8daa |2y + 2| <|Zj]|+|2Zy| ————(4)
Gognd AORP @o. OP+ PP >O0R

21+ 25| + |2 >Nz |2 + 2, > |2y - |2 ———(3)
AOP,P @o OP + OP > PP,
21 + Z,| + |z1] > |2,]
|2y + 25| > |7, - 17| ———— (3)
(3), (d) @dmiha
|z ~12,] < |2y + 2,
OP, A P aawen gB; GhiBsrlysd afisHeamssaied Soupd eafet
121~ 23] = | 2] + | 25| o@i.
@88 |Zj| ~|Z,| < |Z; + Z)| —————(B)
(A), (B) @emba

1| ~22] < |2, + 75| < |z)| +]2,)

Z, =6 +8i,

|Z)] = 62 + 82 =10; 17| - |32 + 42 =5

Z1+Zy=(6+8i)+(3+4i)=9+12i

|2 + 2| = /9% + 122 =15
@ue |Z) + Z;| =7} +|2,] aew.
Z; =6+8i,
12| =10; |z,]=5
Zy + Zy =(6+8i) +(-3 - 4i)
=3+4i

Zz =3+ 4i eaes.

Zy =~3-4i aaa.
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(i)

cOAP, g Garemidding FIowns

|Z) + Z5| = {32 +4% =5

@us Z) + Zp|=Z)|-|Z, »aw
, NJNghy ;(ii) @epenien o _meisnen 2 LGWTHES

2|~z <12 - 7y = fz7i] + |2,

s1e1  BlmieuevTLD.
Zy =r (cosB; + isinO;). ~ 1y {cos8;y + isinB,) aeis.

"N

OP =n, POX=0.. Ph=n POX=0,

o5 Ox @ OA
LB A T@UID LTierise:: wiindb,
P4 g @oenss. (P ».. =

0, swsriy O Geon@ Gy
G suenridILiiHANH.

OR P susoyuiuGdlng. 6
Gar(paend FhAE@GW yetell P wirengy 2
Ssolnett Z)-Z; @ HNest.

Bmieus0:
AOP P, AO4A Py auusney BuwsdQuissemel
on _or
04 OP
P A
’Tl= OF . OP=nr. POX=0,+6,
’2 .

. P= (rlrz, (91 + 9»))
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(iv) @55 Ox @b 04 =1
DINVG LGN A aaigid
yereflenw eiGés. OF) o Let
0, smwsgwrm O BarG
CriGar® susHFuiLGEmS.
OP, 4 egip Canamsdne,
swwrgwry OF Q

auTwiLGEngl. @m CanEGaEmd
siRaw0 ysiell Q, HésQeven

Z .

L gi esen

7,

AOQP, AOAP,

00 _0OR
04 0P,

Blgeusd :

00 _n

n

Qﬁ(i,el —92)
n

. _Fayssmd 4

%,

P (zy)

Py(Z;)

A
=--; 00=-1 QOX=6,-0,
n

N2

() OPQ agup waGareiuier ussw PQ eler pElysTenN R eafied, Gasdy
safispenmiiLip orP? + OQ2 =2 (0R2 + »PRZ) oien Boieys.

(i) Z aesuen Q@ fabsQeoamisenns Bmos,

2 +af’ +1z-d =2{jzf + o } e sysei s s

vweSIUGSE Bipeys.
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(i) ORQ, ORP aewaupded QM
aSfiGsmemmonu b, LoMENDIE
SalimIGaTeRDmU 1D DIDLOUYD.

ifiCasnen waGsta ORQ Qed

00 = RO + RQ? — 2RQ-RM (1)
simGanen 1p&Gananf ORP @ed

OP? = RO? + RP? + 2RP-RM —(2)

()+(@2), orP?+00?=2 (0r? + PR?)

(iii) P, O ecigud yeiroMmenr oymein
afliu g8 Z, a eigni
fazComismend @flsa Simest.

OPRQ gevemsgid

yeitell R, fssGevsi (Z + a)
8E @idHng,.

OR=|Z+a|; PQ=|Z-4

 SG. Wé0sref OPQ @ed
M PO ger p@iyeief.
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